I udten weld
\l National Testing Agency

Test Date : 21 Feb 2023 Test Slot : siot 2

Subject : 18-Maithili

Sl. No.1
QBID:118001

1977 5. H ARG SpTeH, Ueary UHIrd il faemfe & aas ofY -

1. OREYR
PIRISELE |

3. Qi AlgT =
4. 7R =

1) 1

(2) 2

3) 3

4) 4

1[Option ID=5801]
2[Option ID=5802]

3[Option ID=5803]
4[Option ID=5804]

Sl. No.2
QBID:118002

femafa® w4 -

1. =i Tt

2. faemfa - garae
3. faemfa iawrdt
4. Y-GRehHT

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=5805]

2[Option ID=5806]

3[Option ID=5807]
4[Option ID=5808]

Sl. No.3
QBID:118003

T 3P S-HaY UH A

1.1830%.
3 18315,
3. 183278,
4.1833 3.

1) 1

() 2

3) 3

(4) 4

1[Option ID=5809]
2[Option ID=5810]
3[Option ID=5811]
4[Option ID=5812]

Sl. No.4
QBID:118004




ey eb1eH! d == 2 Wil yepifid Haf

1. 3FRATY P
. olgcd ffys

1[Option ID=5813]
2[Option ID=5814]
3[Option ID=5815]
4[Option ID=5816]

Sl. No.5
QBID:118005

&R faarT & EATPR B

1. deHieR g
2. d=l =l

3. T 3
4. 7AyT 5
1 1

() 2

(3) 3

4) 4

1[Option ID=5817]
2[Option ID=5818]
3[Option ID=5819]
4[Option ID=5820]

Sl. No.6
QBID:118006

HGIhTdl' S 0D [dUrD HH 3 -

1. g-0-4-9-Y-d-7
2. 9-9-9-9
3.9-9.99

4. H-H-A-J-dI1T
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=5821]
2[Option ID=5822]

3[Option ID=5823]
4[Option ID=5824]

Sl. No.7
QBID:118007

H Hafd YH BTl ACHULHTH - Dol B -

1[Option ID=5825]
2[Option ID=5826]




3[Option ID=5827]
4[Option ID=5828]

Sl. No.8
QBID:118008

f§ PRUfE Frfafd 97 3R 8Igs -

43

&l
HIg-T

=

:

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5829]
2[Option ID=5830]

3[Option ID=5831]
4[Option ID=5832]

Sl. No.9
QBID:118009

gdis® anfayia o1a o -

1. ®Ulfe
2. 3ZAAR

3. Yusddl
4. YTdd

@ 1

(2) 2

3) 3

(4) 4

1[Option ID=5833]
2[Option ID=5834]

3[Option ID=5835]
4[Option ID=5836]

Sl. No.10
QBID:118010

Se-slied didbred U@ -

1. UgUATdHD

2. YARATTHAD

3. Yfga-Hrartd
4. fafde fawgs

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=5837]

2[Option ID=5838]

3[Option ID=5839]
4[Option ID=5840]

Sl. No.11
QBID:118011

Sid Y IUDTd M3 Ssd 31 -

1. 3t
RGHEI
. HAR
4. 9ig¥
1) 1

) 2
3) 3

LUV O]




(4) 4

1[Option ID=5841]
2[Option ID=5842]
3[Option ID=5843]
4[Option ID=5844]

Sl. No.12
QBID:118012

Afrelt arpTeH URIRIT TURATHR & WUH TXHUS USRS Y fergd 3fY -

1. TR oy

2. ¢dPTd

3. FHATDT AT

4. b1 BIPR TaedPR
1) 1

(2) 2

3) 3
(4) 4

1[Option ID=5845]
2[Option ID=5846]
3[Option ID=5847]
4[Option ID=5848]

Sl. No.13
QBID:118013

AR Igd ol f[AeRy & dad 3 -

1. fer AR =
2. TMid= =

3. Adi== 7y
4. gHg =

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=5849]
2[Option ID=5850]

3[Option ID=5851]
4[Option ID=5852]

Sl. No.14
QBID:118014

et TR T1fid dRad S -

1. 919 TMifd=< =11 i
2. a5 Ay
3, SRy Ty
4.QUE

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=5853]

2[Option ID=5854]

3[Option ID=5855]
4[Option ID=5856]

Sl. No.15
QBID:118015

l-g-5' Rigid® didures 1Y

1. SifeT
2. AR
3. glsg duT didh
4. %90




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=5857]
2[Option ID=5858]

3[Option ID=5859]
4[Option ID=5860]

Sl. No.16
QBID:118016

Al Iaafy e o -

L. HERTE] HTp ¥
2. QIR Ty
3. HTER ATy
4. IR ATy
1) 1

2) 2

(3) 3

(4) 4

1[Option ID=5861]
2[Option ID=5862]

3[Option ID=5863]
4[Option ID=5864]

Sl. No.17
QBID:118017

"31g = 41 i, 7 R/ ¥ - Y@ |
86U - bR gW . HbI Hg g@d "

_ % Ulad forad a4 -

1. YauldI-< 3D

2. ATy foTdid

3. 49Ty A Tde &
4. 3R y9TE [Rigdh

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5865]
2[Option ID=5866]

3[Option ID=5867]
4[Option ID=5868]

Sl. No.18
QBID:118018

R Uil IR = 9 A & "ifed HIGH] GREBR el

1.1969%. |
2.1970%. 8
3.1971%.9
197259

(1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=5869]
2[Option ID=5870]
3[Option ID=5871]
4[Option ID=5872]

Sl. No.19
QBID:118019




e ST Hfadr forgaf -

1. prRfiepr=d fiy wyT
2. BRI g
3

- NIECAEE
Riccet

(1) 1

(2) 2

3) 3

(4) 4

=

1[Option ID=5873]
2[Option ID=5874]
3[Option ID=5875]
4[Option ID=5876]

Sl. No.20
QBID:118020

"31eyf-ie AfIel Siadr : = 3t 2fY il yebtiid He oife -

LAqT A ge T
2. YA g ¢, g [
3. it fasm aRvg, s

4. Tarfara fou wramad, aefear TRt

(1)1
() 2
(3) 3
(4) 4

1[Option ID=5877]
2[Option ID=5878]
3[Option ID=5879]
4[Option ID=5880]

Sl. No.21
QBID:118021

91 gigd Yifa&qy edie faer aife -

1. hiad
2. PY[
3,344
4. 9UshIog
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=5881]
2[Option ID=5882]

3[Option ID=5883]
4[Option ID=5884]

Sl. No.22
QBID:118022

'WHTGol-URU | T =T 3fe:

1.9cg
. U<g
. HdE
1) 1
(2) 2
3) 3
(4) 4

[V ]

o

1[Option ID=5885]
2[Option ID=5886]




3[Option ID=5887]
4[Option ID=5888]

Sl. No.23
QBID:118023

I 3Rl YN+ YA
3g-Hg e IrHid AP 47 |
- 3 e e -

1. "R
_ThAdAD
RS
IR
(1) 1

(2) 2

3) 3

(4) 4

b o

=

1[Option ID=5889]
2[Option ID=5890]
3[Option ID=5891]
4[Option ID=5892]

Sl. No.24
QBID:118024

e AHIHY qREhd HeThIod 3% -

3R
G2
= g
4. gHSIGRUI
1) 1
2) 2
(3) 3
4) 4

b b =

1[Option ID=5893]
2[Option ID=5894]
3[Option ID=5895]
4[Option ID=5896]

Sl. No.25
QBID:118025

Tl D1 W1 g Heafd g i
- 3 fer 21l -
1. TofreT ST Iy

1[Option ID=5897]
2[Option ID=5898]
3[Option ID=5899]
4[Option ID=5900]

Sl. No.26
QBID:118026




UhdReb S-HD 4 Sl :

1)1
) 2
(3) 3
(4) 4
1[Option ID=5901]
2[Option ID=5902]

3[Option ID=5903]
4[Option ID=5904]

Sl. No.27
QBID:118027

Sfffad et I UiNTuTe Frgie UehTI O Sffe

1.1959 3.
1969 5.
1979 5.
. 1989 3.

1)1
(2) 2
3) 3
(4) 4

[N

55

1[Option ID=5905]
2[Option ID=5906]
3[Option ID=5907]
4[Option ID=5908]

Sl. No.28
QBID:118028

3G 3l SIi¥bId TP Sdlad BfY

T
Hewl
o=
Y

B S T o T

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=5909]
2[Option ID=5910]

3[Option ID=5911]
4[Option ID=5912]

Sl. No.29
QBID:118029

TEIT IUT S dagddrel Jdr 3ife -

1. IR
2. RRIgARM™oy

3. HigARI™Ul
4. SIOARTYUT
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=5913]
2[Option ID=5914]




3[Option ID=5915]
4[Option ID=5916]

Sl. No.30
QBID:118030

Taaqe A WEId HUTH T&IT i

l.ad
g

7
3. 6

4. 9

(1) 1

2) 2

3) 3

4) 4

1[Option ID=5917]
2[Option ID=5918]

3[Option ID=5919]
4[Option ID=5920]

Sl. No.31
QBID:118031

AT S IR TS THIRE ay 31f

1.1945%.
2.1946 §.

3. 1947 5.
4.1948 3.
1) 1

() 2

(3) 3

(4) 4

1[Option ID=5921]
2[Option ID=5922]

3[Option ID=5923]
4[Option ID=5924]

Sl. No.32
QBID:118032

Hielid TUH HINDHI Hgd 71d 31fe -

1. TR faeiie &
' Al Treapir &

o b2

4
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=5925]
2[Option ID=5926]
3[Option ID=5927]
4[Option ID=5928]

Sl. No.33
QBID:118033

ARATY =T gHTied Talde-He=r § THMY 31 Ua-+d ST 3

1. 9idg

. HAg
. 3Holke
1. 419
(1) 1

) 2
3) 3

W bo

=




) a

1[Option ID=5929]
2[Option ID=5930]
3[Option ID=5931]
4[Option ID=5932]

Sl. No.34
QBID:118034

Tifa=< 3 Pd Aled a1 31fe -

1. dhdld
2. dTeHE]
3. dleHy

P}

P

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=5933]
2[Option ID=5934]

3[Option ID=5935]
4[Option ID=5936]

Sl. No.35
QBID:118035

S S A Tidid UhiDieR B -

1. A01gsT
fbur
QR
3R

(ST ]

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5937]
2[Option ID=5938]

3[Option ID=5939]
4[Option ID=5940]

Sl. No.36
QBID:118036

GHs b 3 T 3

1. 99 9T 31 fqemufd

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=5941]
2[Option ID=5942]

3[Option ID=5943]
4[Option ID=5944]

Sl. No.37
QBID:118037

i dgg AchHH 3P DR ST i

s




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=5945]
2[Option ID=5946]

3[Option ID=5947]
4[Option ID=5948]

Sl. No.38
QBID:118038

HTHIGH Afel Aledh TAYRS IURUT Ry 3 Uik 7 IR g o1 :

INGHIRES

"

L

[EIREIED
A
3SHD

P V]

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5949]
2[Option ID=5950]

3[Option ID=5951]
4[Option ID=5952]

Sl. No.39
QBID:118039

3y ARM™Y g Fibdl® [erRad e 31l -

1)1
(2) 2
(3) 3
4) 4
1[Option ID=5953]
2[Option ID=5954]

3[Option ID=5955]
4[Option ID=5956]

Sl. No.40
QBID:118040

P fdgR ATed' & faft sife -

1.9
2. Pt
3. fafgarer
4. 99y
1) 1
() 2
(3) 3
4) 4

1[Option ID=5957]
2[Option ID=5958]
3[Option ID=5959]
4[Option ID=5960]

Sl. No.41
QBID:118041




faemufad eiqrdr waft -

A. Saftigd
B. HRaftigy
c. BifdRizy
D. F=i¥ied
E. Riaffigd

o fam ey 98 e 999 o

(AT (0)
.(B)Wd (D)
)
)

W bd =

(C)4%d (D
AC) YA (E
(1) 1
(2) 2
3) 3
(4) 4

I

1[Option ID=5961]
2[Option ID=5962]
3[Option ID=5963]
4[Option ID=5964]

Sl. No.42
QBID:118042

Fgifedd g1 3% 941 Ale S -
A, AfYeht fia Iamadht

B. gl AR AlCd
C. AeRamil 9ug
D. JoY-Udlal

E. 7iid-gur

1 fqm e g I 999 o

(AT ()
.(B)T4 (D)
.(A)Wd (D)
.(C)Td (D)

1)1
(2) 2
(3) 3
(4) 4

L ST o I

=

1[Option ID=5965]
2[Option ID=5966]
3[Option ID=5967]
4[Option ID=5968]

Sl. No.43
QBID:118043




GENICRIAREE

A gif®

B. Il
C. INTie
D. e
E. ot

=

Fgifhd @y Uel StTR® 99 &

1. (A)Wd (D)
2.(B) U4 (E)
3.(C)Ud (E)
.(B) U4 (D)

1)1
(2) 2
(3) 3
(4) 4

=

1[Option ID=5969]
2[Option ID=5970]
3[Option ID=5971]
4[Option ID=5972]

Sl. No.44
QBID:118044

ST I T 3l ISR, e yoimafd 99 oFR |
QS Jf S ad Sifa, Ypgd od RRae Afy 117 - Ufe g affe
A. Heg

B. 3UAT
C. yif=mmE

D. QUITGHT

E. ¥Udh

(-

Fgifhd @ ¥el StR® 99 &

(A)Td (E)
.(B)Td (C)
.(C) T (D)
.(B)Td (D)

1) 1
(2) 2
(3) 3
(4) 4

[ R O

I

1[Option ID=5973]
2[Option ID=5974]
3[Option ID=5975]
4[Option ID=5976]

Sl. No.45
QBID:118045




PO YT Hed I 31 :

A. HEar deil gy vdtad
B. Re1f Hfgdl droay

c. Zauftand: gfaared: ee: Hroa
D. Ur<drcigR

LT T T

Fgifhd @y Uel StTR® 99 &

1. (A) Ud (E)
2.(B) T4 (C)
3.(B)Wd (D)
.(C)Wd (E)

1)1
(2) 2
3) 3
(4) 4

=

1[Option ID=5977]
2[Option ID=5978]
3[Option ID=5979]
4[Option ID=5980]

Sl. No.46
QBID:118046

YA TG 1T 3ife -

A, SEIHA
B. HoR|
C. Sfaaik
D. @I
E. il

[gifard e ey 98] 3R 99 $E -

.(A)Td (B)
.(B)Td (C)
)
)

LT O B

(C)Ed (D
(B)TA (A
(1) 1
2) 2
(3) 3
(4) 4

I

1[Option ID=5981]
2[Option ID=5982]
3[Option ID=5983]
4[Option ID=5984]

Sl. No.47
QBID:118047




YdlY ARMUIRIE 311 d14 Hed dieR] GHHR UfAD] YDIIRId Hd J8dls :

I DRIGEE]
B. fafyenfafgx
C. At yRdt
D. AldcierA
E. Weq

Fgifed fah ey Igl ITRe 901 & -

1.(A) T4 (B)
2.(B)Ud (C)
3.(C)ud (D)
4.(A)Ud (D)
1) 1

(2) 2

3) 3

4) 4

1[Option ID=5985]

2[Option ID=5986]

3[Option ID=5987]
4[Option ID=5988]

Sl. No.48
QBID:118048

09 TRTed QMrsdl, STd gRI USRI qURATGRYS Juled Sy -

A 3T oy

B. Tifd< =

C. giifd AR Feult
D. Sq3{TSit #7143
E. A=< Ay

fHiferd fdmedy Il STe 994 %

1. (A)Qﬁ:'(B)

2.(B)Td (C)

3.(C)Ud (D)
4.(A)Td (D)

1) 1

(2) 2

3) 3

4) 4

1[Option ID=5989]

2[Option ID=5990]

3[Option ID=5991]
4[Option ID=5992]

Sl. No.49
QBID:118049




At HTIfA AHS giell fora s

A, T4 = iy

B. a1 319
C. IRy gy

D. gz T

E. YHEdR g1

Fgifed fah ey Igl ITRe 901 & -

1.(A) T4 (B)
2.(A) T (C)
3.(A)Td (D)
4.(B)Td (C)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5993]
2[Option ID=5994]

3[Option ID=5995]
4[Option ID=5996]

Sl. No.50
QBID:118050

o, 3feiTed s oid o
A. fdifafes Od 3w afde daw
B. U R UFR 3T Afde
C. AfE R
D. §H fRYFH 34 Al Ry
E. fa BIRATHE 1% ! didel

fHiferd fdmedy Il STe 994 %

1. (A)Qﬁ:'(B)
2.(A) T (C)
3.(A) T4 (D)
4.(B)T4 (C)

1) 1

(2) 2

3) 3

4) 4

1[Option ID=5997]

2[Option ID=5998]

3[Option ID=5999]
4[Option ID=6000]

Sl. No.51
QBID:118051




o1 Riid a1 fegsigdigs gade g -

A 3RE],
B. Wil
C.gd

D. HRFHR
E. 5. ¢ g

[ S L N r

&l d dd?c*qv{:illzl—fﬁdﬁﬁdﬁ dYd dh¥=

1. (A)Qﬁ_hB)
2.(B) T (C)
3.(C) T4 (D)
(D)W (E)
1) 1
(2) 2
3) 3
4) 4

=

1[Option ID=6001]
2[Option ID=6002]
3[Option ID=6003]
4[Option ID=6004]

Sl. No.52
QBID:118052

Ao HAR™T B3 341 (9 -

A. 3P D dRGHMN
B. WeTgd 3R

C. 991

D. Bld® didh

E. TRY

3ieNfafad fdep ey 98 ItRe 90 e

. (B) HI (E)
.(A) 3T (B)
.(A) HI (D)
(A) 3 (E)
1 1
) 2
(3) 3
(4) 4

[ S R

=

1[Option ID=6005]
2[Option ID=6006]
3[Option ID=6007]
4[Option ID=6008]

Sl. No.53
QBID:118053




3Rfd= 3fdp’ B =1 B :
A. dId-Hgl
B. f#1. Hieil P11

C. Peq
D. U & dh &
E. T dd fo

Jrefiferfad fam ey Igt RS 0 H

1.(A) 3T (O)
2.(A) 3T (D)
3.(A) HI(B)
4. (A) A (E)
@ 1

) 2

3) 3

(4) 4

1[Option ID=6009]

2[Option ID=6010]

3[Option ID=6011]
4[Option ID=6012]

Sl. No.54
QBID:118054

YTy R e Al fora 2 -

A, WeTSd 3R
B. UG

C. ufed i
D. UiEd g1R
E. TRY

Jrefferfad fahedd 9et IR 99 & -

.(A) 3T (B)
(A) 3T (C)
.(B) 31 (D)
.(A) 3 (E)
1) 1
) 2
(3) 3
(4) 4

[ R O R

=

1[Option ID=6013]
2[Option ID=6014]
3[Option ID=6015]
4[Option ID=6016]

Sl. No.55
QBID:118055




A1 316 AT 3l

A. Pl

B. Wfds-umwsg

C. PWL-FRd

D. AU ST g
E. HIigcd ST YREdhd

=

Fifed fah s Igl ITRe T &

1. (A)Wd (C)
2.(B) U4 (E)
3.(C) T4 (E)
.(B) T4 (D)

1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=6017]
2[Option ID=6018]
3[Option ID=6019]
4[Option ID=6020]

Sl. No.56
QBID:118056

TH-OXH d&UIfg IRISHE I<-aHT - UigH 31

A. FUBAER
B. UHId-duiA
C. AT 9uiH
D. 3H®R guiF
E. faxmiiad

=

Fifed fah s Igl ITRe T &

1. (A) W4 (C)
2.(B)Td (D)
3.(C) T4 (E)
.(A) T (D)

1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=6021]
2[Option ID=6022]
3[Option ID=6023]
4[Option ID=6024]

Sl. No.57
QBID:118057




il aR aifa S s qy 9f|a |
ST 3R] eR-eTR 9+ 3Fd-ditad 11
- UfeH quiF 3fey

D. AR
E. T H6Hd

Fgifard e ey 98] SRS 997 $E :

1.(A)Ud (D)
2.(B)Td (C)
3.(A)Td (B)
(C)Td (E)

e

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=6025]
2[Option ID=6026]

3[Option ID=6027]
4[Option ID=6028]

Sl. No.58
QBID:118058

HTHIEA 21 a1 3

A. UdIg-Siiad
BW

thrrawﬁm
E. A9

Fgifard e ey 98] SRS 99 $E :

1.(A)Td (B)
2.(B) T (C)
3.(C) W4 (D)
B) Ud (D)

e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=6029]
2[Option ID=6030]

3[Option ID=6031]
4[Option ID=6032]

Sl. No.59
QBID:118059




ey 21 aleds U= Sl

A. 3ERT Alga
B. AF4d-Hed
C. gishHT

D. FHARE!

E. gU-Bd
Fifed fah s Igl ITRe T &

1.(A) W4 (C)
2.(B) T4 (C)
3.(C) T4 (D)
.(A) T (D)

1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=6033]
2[Option ID=6034]
3[Option ID=6035]
4[Option ID=6036]

Sl. No.60
QBID:118060

ATfSHUr IUATHD U 3

A. gHBI
B. ¢ddbI=d
C.cddl

D. gitar
E. faoicit

Fifed fah s Igl ITRe T &

1. (A) W4 (D)
2.(B) T4 (C)
3.(C) T4 (D)
.(B) T4 (D)

1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=6037]
2[Option ID=6038]
3[Option ID=6039]
4[Option ID=6040]

Sl. No.61
QBID:118061




Fgd AchdR T Uie oY

A. UTHOT F1eR’t
B. G 'TRaR’ F1eRt
C. a2

D. GHs &l

E. {1 [y

o fam ey 98 e 999 o

.(A)Td (B)
.(B)T4 (C)
.(C)Td (D)
.(B)Td (D)

1) 1
(2) 2
3) 3
(4) 4

Lo N R

Y

1[Option ID=6041]
2[Option ID=6042]
3[Option ID=6043]
4[Option ID=6044]

Sl. No.62
QBID:118062

AHTATTHIHD [Ha=-TUg 3% -

A. Tt AT
B. Uy gy e
C. USH-IUg

D. 31 S Hgdi
E. o9 3Hdf8 g9

1 fqm e g I 999 o

.(A)Td (B)
.(B)T4 (C)
(C)Td (D)
.(D) Ud (E)

1)1
(2) 2
(3) 3
(4) 4

LS R O R

=

1[Option ID=6045]
2[Option ID=6046]
3[Option ID=6047]
4[Option ID=6048]

Sl. No.63
QBID:118063




iR 27 fora 3y -

A, HI-GHTRIE]
B. Ug3-ARA

C. HdgR-i[dd®
D. Udl-UdTq

E. YRd-a=<1

4 A ey 98 SRS T &

.(A)Td (B)
.(B) TG (C)
.(C)T4 (D)
.(D) Wd (E)

1) 1
(2) 2
(3) 3
(4) 4

L R O R

=

1[Option ID=6049]
2[Option ID=6050]
3[Option ID=6051]
4[Option ID=6052]

Sl. No.64
QBID:118064

e A1 GHT B I G B

A. 3bradt
B. Udl®h
C. 3dHle
D. gd

E. TafRaHl

Fifed fah s Igl ITRe T &

1. (A) T4 (E)
2.(B) T4 (C)
3.(B)T4 (D)
(AT ()

1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=6053]
2[Option ID=6054]
3[Option ID=6055]
4[Option ID=6056]

Sl. No.65
QBID:118065




T T

BICCARE? PIPld S .

A. € gedt
B. OfHud

C.axd _
D. dohd 31f& I8
E. UHIR 31f¢ daa dqR Y

=

Fifed fah s Igl ITRe T &

1.(A)Wd (B)
2.(A)Td (C)
3.(A) T4 (D)
4.(A)UTd (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=6057]
2[Option ID=6058]

3[Option ID=6059]
4[Option ID=6060]

Sl. No.66
QBID:118066
fgiferd Tl Hfdpre T A &%
1@ | T o @eer)
A [SHTHET 1 |a1fomr e
B. [AfE dideid| 1 [EaRe
C. [arl 8l T | 1L [|ims
D. foHIgdar |1V, ReeR 3

g Ay 98 Ie TgT o

1. A-IV, B-II. C-1, D-III
2. A-III, B-1, C-I1, D-IV
3. A-L, B-III, C-II, D-IV
4. A-II, B-1V, C-I1I1I. D-1
1) 1

) 2

(3) 3

(4) 4

1[Option ID=6061]

2[Option ID=6062]

3[Option ID=6063]
4[Option ID=6064]

Sl. No.67
QBID:118067




afcRad T9-Fsafie yaded g-id digd 1 Hd o

A. [Hedle L [Yidaare

B. [yczip® 11 [3{iteaiddig
C. [yzamm® 111 I
D. [3fitFaTw 1v. [aifidare

FHifed fah s Igl ITe 901 & ;

1. A-III, B-1V, C-1, D-1I
2. A-III, B-IV, C-II, D-1
3. A-IV, B-III, C-I, D-1I
4. A-IV, B-I1, C-1. D-1II

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=6065]
2[Option ID=6066]
3[Option ID=6067]
4[Option ID=6068]

Sl. No.68
QBID:118068

frafeiead = PRSI fFdH o -

FIEED [T 0 AR
|erTgr - afger | 1 [ e
_ 1L [g&s o ga
. |PTERE D = Udd]| 111 JIIIrEerETi
_ [T HIE™ET [

i
:

FHifed fdeead 9l STRe 9g1 He

1. A-L, B-III, C-1I, D-IV
2. A-III, B-1IV, C-I, D-II
3. A-IV, B-11, C-1I1, D-1
4. A-11, B-III, C-1IV, D-1

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=6069]
2[Option ID=6070]
3[Option ID=6071]
4[Option ID=6072]

Sl. No.69
QBID:118069




r‘ ™

Tafafad TS TSR W fidH & -

T 1 @) I 11 GEATSR)
A [B<ISHME ¢ &l BId faddr 1 [Aiddr| I [Rigd<d 313
B. [d=a] 311 Ud d34dy 11 [T i3y
C. [f[a=1 faenmufd uerac 1L [Fih? HHR 2
D. [fgeruid U gifeidin o Ty V. [flecRmE =
Fgifed f[dh ey Tl IS IU1 HE
1. A-IV, B-II, C-I1, D-1
2. A-III, B-1, C-IV, D-II
3. A-IL B-1V, C-1, D-III
4. A-I, B-IV, C-III, D-II
11
) 2
(3) 3
(@) 4

1[Option ID=6073]
2[Option ID=6074]
3[Option ID=6075]
4[Option ID=6076]

Si. No.70
QBID:118070
9 & d 71d g Y= dehguf e &
1 T I
A |vuiErd i CRIIGED
B. [¥e1P greE® | I [HRT-SIET
c._ [ o [ig-gl
D. [aRaa=iiaad [ 1v. [paa area

4 A euy 98 SRS T D&

1. A-1, B-11, C-II1, D-IV
2. A-IV. B-III, C-II. D-I
3. A-IIL, B-1V, C-1, D-1I
4. A-I11, B-1, C-I1, D-IV

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=6077]
2[Option ID=6078]
3[Option ID=6079]
4[Option ID=6080]

Zlé ;‘Do 171:.18 071
Gl 1 R THA el 1 P H11 hE
GGl ¥ 1L
A_ [T I [y [y emy
B. [fafqs 1fid 11 [@TRiTd Y JU
C. [aeaed | MiE e
D. [fita wHorll V. g5z 3 gaa

™

fgifed fadm el Uel StRe 99 & -

1. A-III, B-II, C-IV, D-I
2. A-IL B-I. C-1V, D-TI
3. A-1V, B-L, C-III, D-II
. A-II, B-II, C-1V, D-1

e




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=6081]
2[Option ID=6082]

3[Option ID=6083]
4[Option ID=6084]

Sl. No.72
QBID:118072

Fafifed uEs Tres Gy fie &%

T 1 T 11
A Paed L [oeH
B. 3Rd I [gOrERd
C. [dagH IIL. [Eorag
D. Fg IV, [3TT
Fgifhd f[ddheay Jal StRD I90 HE
1. A-IV, B-1. C-II. D-III
2. A-IMI, B-I1, C-1, D-IV
3. A-IL, B-1V, C-II1I, D-1
4. A-1, B-III, C-11, D-IV
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=6085]
2[Option ID=6086]
3[Option ID=6087]
4[Option ID=6088]

QB1Dr118073
FRIRIT BT e JRBRAYD W HE -
(@4 [FE9 0 (Ra,
A [SFad gdm I 19993
B. [gm@ gldt | I f19943
C. [rora® 11 007 3
D. [RI®R V. [1993 3.

Fgifd fddead 9l SRS 9g1 e -

1. A-IV, B-I1, C-II1. D-1
2. A-IIL, B-1, C-IV, D-1I
3. A-IL, B-1V, C-1, D-III
4. A-1, B-1V, C-III, D-II

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=6089]

2[Option ID=6090]

3[Option ID=6091]
4[Option ID=6092]

Sl. No.74
QBID:118074




g Ui uereHas s 91 fHaE o -

T 1 Tl 11
A [qUREER I J19533.
B [Fooyd |1 |95z
C. [mamsiga  [mrfiosos.
D. [a91d v [1950 3.

fmiferd Ao ey Il SRS T % -

1. A-III, B-II, C-1V, D-I
2. A-IV. B-III. C-1. D-II
3. A-IIl. B-1. C-IV, D-II
4. A-1, B-11. C-II1. D-IV
(1)1

(2) 2

3) 3

(4) 4

1[Option ID=6093]

2[Option ID=6094]

3[Option ID=6095]
4[Option ID=6096]

QB1Dr118075
Gl 1 R T el 1 1 -
T 1 T 11
A g faer I 19603
B. [fRdR= 11 |1961 3.
C. |1 el | 1L [1947 5.
D. [giaruftom |1V 1956 3.

Hifehd fdbeqd Il SRS 91 H e

ap

1. A-II, B-1, C-I11, D-IV
2. A-III, B-1V, C-1, D-II
3. A-III, B-IV. C-II. D-1
4. A-II, B-III, C-IV, D-I

1) 1

) 2

3) 3

(4) 4

1[Option ID=6097]
2[Option ID=6098]
3[Option ID=6099]
4[Option ID=6100]

Sl. No.76
QBID:118076




BT 2PU 0 T Tl SIhH 3T -

A. AR IR THer rmrgor, - LTS AL, Thidel 9R0E, =0
B. Uhlddil GRUM, [H1-HIST IMH0T, 106, IHYR FRd [Hfdarn e
C. Tafdar- v Immor, IR R e IamEr, uhad gRomE, 9
D. A1, [HIA1-HINT IETA0L, Ublad! TR0, THYR IRd fEfer ™o
E. YR IRd [HfAem Ao, Uhided! g, fEfAer-HIsT IEE0L, e

o fam ey 98 e 999 o

Bow o
w oo

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=6101]
2[Option ID=6102]

3[Option ID=6103]
4[Option ID=6104]

Sl. No.77
QBID:118077

AITAD 2T el SFHH T

A. TIigdaUU], HTaUEHT, I TER, dhlidd Sifdd
B. STV, Tiedauul, I TMER, aehifad sifdd
C. Fohifad Sifdd, HTUTHIRT, AfedSYUN, T TR
D. T TER, Fifgdayul, gebiferd Siifdd, HIeaUdHTR]
E. Tifgauul, T THTTeR, HTAUEDI, debiiad Siifdd

Fgiferd fahead Igl SRS 01 &

bl D

LA
- B
A

o

4.D

1)1

(2) 2

3) 3

(4) 4

1[Option ID=6105]
2[Option ID=6106]

3[Option ID=6107]
4[Option ID=6108]

Sl. No.78
QBID:118078




Afel uieTe ueH-hH 31 -

A. dogl. B e g, fHfdar fafee, HidaeeH
B. fifiarex=, 92, Afvch wifew 1=, fofiren fifgr
c. fafyar fafgr, afde uifgd vz, aegl, fAfuarexi=
D. Afelt wfew vz, fafaeresi=, ffaen fiafgR, 38t
E. fAfdares=, degt, ffe g o=, fafder fifgx

Fgifed fah ey Igl ITRe 901 & -

L I

LA
B
L

=

4.D

1)1

(2) 2

3) 3

(4) 4

1[Option ID=6109]
2[Option ID=6110]

3[Option ID=6111]
4[Option ID=6112]

Sl. No.79
QBID:118079

Fafafad AP RS STHAR agdr 31

A. TG ATAET, SHMI, dieiary, SR 1
B. HIdRM 1. IgTw< didad, didcr, A
C. UMY, AIeTGY, TAa ey, SIdRM 91
D. WIAeH, IR 1, JAMId, YT drdary
E. HIdRTA 91, dleiars, SATIM, IgT< e

[y r

Fgifed fde e 9 SR 991 F

1[Option ID=6113]
2[Option ID=6114]
3[Option ID=6115]
4[Option ID=6116]

Sl. No.80
QBID:118080




HRIURT 1T URARA Hidcie Hal 3hH 31

A. fagiiers, sfgd, fRay anmers, e
B. I, (2w ArTets, aigHd!, faarmars
C. YR, [qgiTee, (A anmes, aigHe!
D. f2ay g, afgHd!, [qgimes, aies
E. [2ay aies. aves, digda!, faaimes

7 9 euy 9g IR 9T &

W
Oaowe

e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=6117]
2[Option ID=6118]

3[Option ID=6119]
4[Option ID=6120]

Sl. No.81
QBID:118081

SHaYF YR R gifed aues $H g -

A. RIS 31, GTR] RaR derd), S = fvor, a3
B. BT A1 TR0, GRHATG 2T, T=d-11Y 3T, Gig 2RaR =i
C. BIFHT 2 B0, T T, Ui <RaR e, gig o
D. GUTR] TRER e, Fe1Y 1, GRAIG 1, P 1 oy
E. g7 QR <o, gIRAG =1, =1 31, DI=i-1Y 31 fepror

Fgifed fde e 9 SR 991 F

L I

LA
.B
o B
D

=

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=6121]
2[Option ID=6122]

3[Option ID=6123]
4[Option ID=6124]

Sl. No.82
QBID:118082




TIIBTAD 2PU T Tl SHH e

A. =l (FGIHT), FU-ART, R, GHEI-ER0I
B. HYI-IRA, FEdRd, [PH-ddl (HEIBT), GHSI-GRUT
C. GHI-5RUI, AR, PU-IRd, el (HgIehToH)
D. SN, GHSI-8R01, UL, A<l (ATDIH)
E. AP ~Idll (HGThTod), GHSI-GXUT, PWL-IN, 3R

fFHiferd fdmeds 9l SRS 994 % -
A
k.
1

LS O T

=

4.D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=6125]
2[Option ID=6126]

3[Option ID=6127]
4[Option ID=6128]

Sl. No.83
QBID:118083

UHRHIND YR R FgfiRad Iu=as ugl %H 2ifw |

A. TR SUE, HAYH, FHCRT], AP
B. ARIfIT, HAGA, 3R 919G, THUR]
D. IHART, IR 54, AT, A9
E. 3R S0, IHARML, AT

IECAREFIP)

FHifed fah s Igl ITe 901 &

B

L R N B

A
C

=

4.D

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=6129]
2[Option ID=6130]

3[Option ID=6131]
4[Option ID=6132]

Sl. No.84
QBID:118084




SFAMER 9 FeveRs ¥igdsa 3ifs

A. BIRTSL., ST [HY, Qci-= Hig 371, Guig I dlerd
B. IR IR F1eR, STapI=d 71, GO, Qi Hig o1
C. ST e, GiR] UaR d1eR], Qi< H1g- o1, TR
D. IR AR FIeRT, ST 1, Qei= Hig 91, GURIS
E. el Hig- 21, Geig QER dieRkl, RIS, ShidbT [y

9 2d Tl fah e Iel FTTRP T9 e -

LA
2.B
3.0

D

-34 .

(1) 1
2) 2
3) 3
4) 4
1[Option ID=6133]
2[Option ID=6134]

3[Option ID=6135]
4[Option ID=6136]

Sl. No.85
QBID:118085

STl =P DR TEt 3gehH 3 -

A, T Ty 3R, SRl vTe Rig, W= 1 A, Sildehid
B. Siiael=d, 3l yde g, G 91 AT, Iy fHY e R
C. ¥ o1 A, Aty {4, Ty fiy 3y, sfidar
D. Rl gIE g, Ts1Y A8 3R, i 311 gH., Sidsr
E. W A1 GA, Ty f 3R, iRt yne g, Siiaer

™ ™

J fdd e 3fad SIS 987 F

™ Ll

1%

37

AW
gowpe

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=6137]
2[Option ID=6138]

3[Option ID=6139]
4[Option ID=6140]

Sl. No.86
QBID:118086




ﬁ%?i :ﬂ%ﬁ}[§$ﬂ7{3ﬁﬂﬁ 3 | @ﬁ@w (Assertion) - (A) HTW?F% (Reason) - (R) 3les |

Assertion A (RITY) : fUdT Ud ool gRT A HUATD dTal UhIdall 30 Tl dlbi-d Hg TH F- HdlD

&4 7dig |
Reason R (d) : §11 HHAY dgd 941 UH SAH |

STd HYFE MR R & 1d [dHedd gl IS 997 HE -

(A)Ud (R) §1 9ol & 3T (R). (A) Y Tg! ARSAT AW |
(A) TG (R) L Hol 3 Ml (R), (A) PR Hel ARSAT Afg 31 |
(A) Tel (R) TTed

.(A) TTEd (R) Fal

(1)1
(2) 2
(3) 3
(4) 4

B S O

1[Option ID=6141]
2[Option ID=6142]
3[Option ID=6143]
4[Option ID=6144]

Sl. No.87
QBID:118087

ﬁ%—ﬂi : g%lﬁﬁaﬂﬂaﬂﬂ?l 3l | I{F@'ﬁt{ﬁw (Assertion) - (A) WWH& (Reason) - (R) 3ley -
RAL (A) : "HIAE TG SR, FPR-HHR g eREg R |"
T (R) : RIS HTST IR0 & 3Ted § 3fdd UaiRid d¥s of $aR [ 1 wd g TR Al 1w |

T HUAD YR R & 1 [dhedy Gl IR 90 B :

.(A)Td (R) G7 HET 3 31 (R). (A) B Hol ARSAT 3if5 |
(A) T (R) &1 TE! 3Mf® 31 (R). (A) PR He! AR fe (D |
.(A) TeT (R) 7T |

(A) TTETd (R) Tl |

1) 1
(2) 2
3) 3
(4) 4

B o

1[Option ID=6145]
2[Option ID=6146]
3[Option ID=6147]
4[Option ID=6148]

Sl. No.88
QBID:118088

ﬁ%&’i 4 ﬂ%ﬁgafﬁlﬂ 35 | ql%frwi%aww (Assertion) SﬂEﬂQWﬁ (Reason) 3
R (A) : DITIRI {7 e APICHNY GRbd S |
dd (R) : [UH TS 3T & e Uil fergaf |

[

Fifhd IUddd HY-Th YR IR el ITRD 94 HE

(A) T (R) FL UG 2 31T (R). (A) DX Hel AT AT |
(A)Td (R) T el M3 31 (R), (A) X Te! AT G 31 |
(A) 8T (R) TTeAd |

(A)TTAd (R) Tel |

1)1

I




(2) 2
3) 3
(4) 4
1[Option ID=6149]
2[Option ID=6150]

3[Option ID=6151]
4[Option ID=6152]

Sl. No.89
QBID:118089

ﬁé-‘?i :ﬂ%ﬁgﬁiﬂaﬂﬂﬁﬂ% | WWW(ASS&TMH] -(A) GWWEF%(Reason) -(R) 3fes |

R (Assertion A) : HT ST AT HTNT IHAEN & HUHED Adoid S |

@ (Reason R) : THRIR-HTST HTGUr A SRTH AiebRah TH W ¥el B |

YA HY-Th AT el f[dhedd 994 e

. (A) TTdd 3T (R) Tal

_(A) Tg! 31T (R) Tad

.(A) 31 (R) TG 31T (R). (A) P ol SURSAT 3D |

. (A) 3fT (R) GLH&T 31T (R), (A) P He! ARSAT Afg 3MfS |
1) 1

(2) 2

(3) 3

4) 4

L R

i

1[Option ID=6153]
2[Option ID=6154]
3[Option ID=6155]
4[Option ID=6156]

Sl. No.90
QBID:118090

=1 : UYH g YA &d T 3415 | TUSH Ulgd RUTUAT (Assertion) - (A) 3T &GIER e (Reason) - (R) 311 |
RITHI (A) : Y dldbad o, 372, T 3 JUSYS UG g3 3T |

dd (R) : U@ a5 sR= =y sfF<d wifta ufgd dua aife |

ST HUYFP MR WR &d 71 [dhed Y Tl IR 90 B ;

(A)Td (R) G HET 3 31 (R). (A) B Hel ARAT 3f |
(A)Td (R) T Hel A& 31T (R), (A) Y He! HTEAT Aig 31 |

.(A) T8, 7l (R) TTed |
_(A) TTdd. Hal (R) Fel |
(1) 1
(2) 2
3) 3
4) 4

L R

I

1[Option ID=6157]
2[Option ID=6158]
3[Option ID=6159]
4[Option ID=6160]

Sl. No.91
QBID:118091




=1 : 117 TR eaHgds Ui ey WG HeTadi® SR odl ad 98-[ddbed Uel (fded) & 909 e

Ufe el ga, SRISIH AT i, Hig Fddd AT [ TR 2 ST Wi | dIgh, SEINIECEZ
d BellRP dl bides H dT el TR & a2 S, g o 1ol ©F | dd fe. 31 I U3 l—HOb »Hal
THA Y | TG GAAES S Bl S 31 TRBR 3Ydl HAGRD UBHY Siied, of Grwd HH AHID
AP e a1 Hifbcid BH 4P | Ufg TSR Rasy ded Y - S B! [Afdhdd IRRS
I Wi Yod ©19, Al SIF! GHIES AFRYS WA | SH1 GiRIRG Toa BRIy & 2d [,
ST == et Tt g Sl SUdT Tidl SHd IR 3=0d Ded i MR Ue YbRS Alf~I-3H<dh
SIS T faaTy THaHare! S a1 IU-HIY AT U SREP od Sife 9l d 9 & odd Sy
AT MRS FRIRAIGS TeleX Dod SiY dlfe FoR® YA (e ra:®HRurd Ja-md fd o
RESHg® JUH Hed 31 | H- P W Hgd 5, ‘IS W JIR Hed 5, S Hed o, fbg
JHHIA DD Gl B Ulg AMYD Wreay GHg | 3, Ragy HeRas [fRiydr ¢if oifg afed
ferde fRUfddh Jead gifid & |

AN o TR & Se a9 -

1[Option ID=6161]
2[Option ID=6162]
3[Option ID=6163]
4[Option ID=6164]

Sl. No.92
QBID:118092

=1 : 19 TS eaHgde Ui el WG TeTadi® Stk odl ad 98- [ddbeid Uel (fdhed) & 904 e

Ufe eI ZITH, SRTITP JTH, PIg ferdad AT oIl TR &1 ST ¥rHIide | dIgH, SHTelaeh D
d PAPRD d i A T fo TR L 3G9 S, §b o brel S | ddd Afe. 3 I U3 l—HOb ~H6I
THA B | Ugd GHTAE S S Blol 9 St YRR Hdl opmlqvucn qI3hY SIS d, of THE BHH A
R Wi al (i o e | Ufe TPHIvRT RISy ded DY - &1 DI [Hibds IR
LY gHelg Yo d S, dfg1 Bl IS AR W' | ST IIRIRd FRrafd AR & ard {4,
ST - =1 eIt Al g Hfey ST Tidl SHd IR 3=0d Ded i 3R Ug YbRS Alf~I-3H<dH
S-St Tl fagTy Toaf-ars! THIfe a1 IU-HI SaeiTd U TRE® od ol 741 d 9 & odd Sy
AT FMAITD FRIRATGS TeleX Dod BiY dlig R YA (e ra:®HRurd S fd o
RESHg® JUH Hed 31 | H- P W a5, ‘IS W YR H8d 5, S Hed o, fbq
YA b D GIid B Ue AFRbS Wreay Wids | o], ROy agrRe [dfRydr sife sife g=ferd
ferden feufd gegar 9ifid &34 |

AT S D Dol B URSHR :

1. 3FA<d
2. SlP
3. WP
4. TTa

(1)1

(2) 2

(3) 3

4) 4




1[Option ID=6165]
2[Option ID=6166]
3[Option ID=6167]
4[Option ID=6168]

Sl. No.93
QBID:118093

7= - 9 iR eHYde Ui Uity S el 3R odl dd ag-1ddbeid Jel (fdded) & 909 e

Ufe eI FITH, SR TD GTTH, PTG fertad AT® I UR 1 STe THIia | g, ST
A PAPRD T Diddh A T Fo TR L 32 S, g o Brol S | ddd fe. 3 < UIa l-HOb ~H6I
T B | Ugd AT DD BIol B Bl TRSHR 2d] qacﬂcmcn qI6hY S, of THEd HH AR
R Tlieihd a1 FRifdhrd B 3 | E%'EiEmIUIH RS Bed §fY - S ST Ffd s TR
WY TG Xed S, dfel Pl FHIC =D AR ARy | ST ARTRIRG Ferdaft FRIer & 2Rd 13,
ST AR o At Do d 3ife Sral 1idl TH TRT 3=4d Ded e M3k Ue UhRS Aif<i-a<d
=N} ol faary Tueaf-ard] S a1 IU-HHIY SfawiTd YT HRE® od Slie T4l d §:' & odd Sy
AT TGS TIRAE® Uelax Hod SiY dlie TPR® AT FHd - Ja-m YA o
RASHg® Y=~H Hd S | AP WA Hed Wl §lgd W YR Hgd o, o ded o, fb=g
JEHTA S S Gl B Ulg AFRS WAy SHG | 3R, Rasy AgRre [afwdr oifs ofifg a-ferd
Ferdep Ul Jead Hiffd &34 |

AFRIS WS TR0 HH (Ud -

IRCAGED
2. JHA S S
3. b d
ENEICRCD
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=6169]
2[Option ID=6170]
3[Option ID=6171]
4[Option ID=6172]
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721 : 9 Teierd eHgde Ui Uity S HeTadie 3R odl dd dg-lddbeid Jel ([ddhed) & 904 e

Uf e GiTH, SR TP GiTH, PIg BESEED AT Il OR T STd THIia | g, SHTeias
d PAPRD T Diddh A T foi TR L1 320 S, g o Bl S | ddd fe. 3 d Uah D l-HOb ~H6I
T B | Igd TSP DIl S Sfad GRHR 34dl FAHRD 6Py olled, of T HH HHE
W Tdleihd a1 Rifdard B fd |E%€f§ﬁvmﬁ—cré¢rma@?f€r S FT Fafas TERE
W] TG esd@fil dlaru P FHICTES AR WA | ST ORI Feiafd FRier & 2R U,
ST d-aRITRd "ol Al g 3ifes 31Ual Tidl FH@ ai I=d dod 31 3R g YhRD Alf-i-3M<dh
=N} ol faary T f-ard] S a1 IU-HIY AT YT HREP od Sllie 41 d §:' & odd Sy
AT THTS TRRAGD Uelax' Pod SiY dlie TPR® AT FHd SFT-Hu@ Ja-m sEyfa d
ReErgdg® TuH Hed 31 | Fh W Hed o, 'Jfd W YR Hed S, o e o, fog
HAHTA b ST B Ug AFRIS WAy Wi | o], Rasd AR [afyd sifes sifg g=dferd
ferde Ul Fead 9ifid &34 |

TR, A 0P

1. YRR UI¥aH

2. AFRID Ha-Th
R ERCINARRNED
4. TYfdP




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=6173]
2[Option ID=6174]

3[Option ID=6175]
4[Option ID=6176]

Sl. No.95
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7= : 9 iR eHYde Ui Uity WG HeTaddie SR odl dd ag-[ddbeid Jel ([ddhed) & 909 e

e T T, SRISTHATD GiH, HIFg fdad ATD Il UR T STe THIia | g, SHTaa s
d BaAIbRe® d1 DI AT dl ford TR A 3G S, geb o Brol B | ddd fe. 3 d YT l—H@b »Hsl
THI B | Ugd AT DD BIol B Bl TGRSR afd] obcﬂqvmqv qI6h Y SiISd, of GHE HH AR
WA GLiedha dl [ihid S U@ | Ufe SRSV Rasy Sed S - OFT Bl [AidhEd IRRE
R WS Yod ©1Y, dlel SiF! GHIdES AFS WA | SH1 g RIRd g FRig & Rd e,
ST AR o At o d i 31l 1idl H ART I=4d Ded e 313 Ug YeRS Aif<i-3r<b
=N} Fel faaTy TueaHard] FHIY a1 JU-GHIY SfawiTdh U HREP o Slie 1 d 9 & odd Sy
A1 THTD TGP Helax' Bod 1Y diie HPR® AT FHd 3T:H0IE Ja-H T ST
RS ug® A Hed 3ife | Heh WA Hed O, Jlad W YR Hgd o, o ded o, b
TS GIiid B Ufg AFRie Wread wieg | R, Racy Agrye fafkyar aifs sifg w-gfad
Ferde fRUfdd Head gifd &3 |

JHTA S D WY W elfid 3 -

1. IS

AFRIS

MfAPH
4. dai®

1) 1

(2) 2

(3) 3

4) 4

LS T S

1[Option ID=6177]
2[Option ID=6178]
3[Option ID=6179]
4[Option ID=6180]

Sl. No.96
QBID:118096
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1 N1 SRICRIS gfas guiH HUd, o Ydac A SR 2= Rdd AP Udid gigd 3 1 3
Afrelt piadm Ad Midbreasd siidRad wifddre-warTdrad s-aid sife dfde T-e uRurdt g«d,
qHRE Aol gERTE e dal A1 T Ued 3l | SRR did & gar 1d Hie kg faud s o
e 3ff Fiad, T Tep el aIdaRvld & 4d Had WIaRid 3d, I DA LA od Teuie Ydd aed

AT & TG ST UgH BIHI =T g 3ifes, Sl P od, Aig Iad ol 9y | Hidel Has
A0 -1 HRd U9 WRINT B, HROT 3EY gd Hidd-2R ues HfaRed o1 YdR® W1 Hid g
Alg 71d ©d | dle=1 Al e e HIeqH S410d U9 UG S | Hadd 91 &FH off Ui [eds
TR BT, [ SRIGRM [T AU g Sl B -3 WPHd Bad Wdd HUd, o Al
HIdard slderaH Ad M YT &4 |




SRICRITD dglde aui HUd :

1. 3Ad
2. BNy

3. <1 S
4. {4
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=6181]
2[Option ID=6182]

3[Option ID=6183]
4[Option ID=6184]

SlI. No.97
QBID:118097

e - g TerRS eaHude ufe ey T uyadie IR odl dd dg-fAeey 9el ([ddhen) & 99F o

T N SRIGAS qgiae quiF HUd, S Gdaxit HfU HIoqeRTd ST I HfAd Tdid g3 3 | 3
Al Sfdam Fdiq fidereae sfaRed widdre-sanmares sraild sife e e aRard =,
SERGEIN ESJ-EQlciIdDHd? 2l I T ﬂ%ﬁa{% | 'SURIGH Al & @ e Hie' fald fqusd Sdie o
fort off Wiad, ¥ dap el ardiarud S 6d Had Wi 3d, § S Hedia od Yesiie dde alud

TR & el ST UgH BIHI T=T g 31fe, Sihl P od, Ao Iad off Gy | Hidedt Homd
AU I $HRa U9 WRINT &6, SR feH gd Uida-oiR ue@ sHfafiad 3ra ThR® 391 Hd kg
Al el B | Al A Ted Aifgwd AT SAIC U8 Wil o | ek 1D &0 31l Ui Redd
SRV BT, b GG favH [EAUID g 3l SHUBIR -3 H¥hd Db Wdd U, o Al
Piddid Siderad AdH U & |

SRICRTh qUIH ST ot Wi a1fes -

1. 9Hd

'.J«JI‘«J
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=6185]
2[Option ID=6186]

3[Option ID=6187]
4[Option ID=6188]

Sl. No.98
QBID:118098




=1 : 117 TR eaHgds Ui ey WG TeTadi® SR odl ad 98-[ddbeid Jel (fdhed) & 909 e

<] 31 CRIGRMD aig!d%{ qui U, of Lj\ddﬂl T A SroauRIS =8 [ 21fa Udid gigd 4% | 2mi
Aferedt Sigdm Adi Midbread sifdRad wifddre-warTdrad said sife dfde TE-re uRurd 9dd,
mwmﬁ%ﬁmwﬁﬂ%ﬁa{% | SUMGH Al & @ d Hie' fafd fqus sdre o

o1 31 WiFd, Y dep el aTararvldh S dd Bdd YR Bd, U Il Al gd Heolg Ude giud
|

WRINTD QA F=<l 21 UgH DIl =T g 3ifed. Sibl =¥ g -1fe Iad ol Yoby | Afdel +vd

T I $HRd U9 WIRT &, BRI ey gd UiFq-47R yad HdRad 39 HhRaE 1 Hd Hbdg
e T a | dfe=1 AU Ted Ao A1eqw S-10d 09 YaH S | Jadd 91 &8 off U e
SIERUI B, fdr SRIGRIS [ v 8q off SMfUHI -3 T d Bad Hgad HUd, of At
DiddIe SIAGRM T AT 84 |

Afredt pigdm i Mdsbreas sifdRe e F=-rd uRurdt =« -

1. gYrfare®
2. Wfdared
3. grJdie®
4. dedde®

1) 1

(2) 2

3) 3

4) 4

1[Option ID=6189]
2[Option ID=6190]
3[Option ID=6191]
4[Option ID=6192]

Sl. No.99
QBID:118099

=1 : 9 TTeriRrd eaHYde Ui ey Wi HeTadie IR odl dd ag-l[ddbead Jol ([dded) & 909 e

T N SRGAS qgiae quiH HUA, o Gdaxit Hic HIogeRTD ST Xad HEd Tdid g1 24 | 34
Al Sfgdd 74 fiderere ifdRed wrfiare-sarmaes oid Sife e 3= TRurd 9.
dbRg dlioT gHRIAIB D <=5l b =M Hed 3fey | YUl did & Jur d Hie' [k faus Sdie o

fort off Wied, ¥ dap el ardiaRud S 36d Had Wi 3d, § B! eidie od Yesiie dde alud
|

TN & T8l ST UgH BIHI T=T Hfg 31fe, Sl ¥ 5d, g Iad ol Gy | Hidedt Had

AU I $HRa U9 W &6, SR 1fRY gd Uiaa- iR ue@ sHfafiad sra ThR® 391 Hd kg
Alg 71a ©d | dfg=1 Al e g AT S410d 09 Yg1 Sd | Hadd 91 & off Ui s
HTERU] BT, [ SGRM (a9 AU gd Sl U -3 TP d Bad Tgdd HUd. o Al
Hidard SideH FdH YO 9 |

ATUE HISTH IHAUTS 91 HId YA &9 -

W G
2. 09
3. Bl
4. 90y

1) 1

() 2

(3) 3

4) 4

1[Option ID=6193]




2[Option ID=6194]
3[Option ID=6195]
4[Option ID=6196]

Sl. No.100
QBID:118100

721 - 3 iR eaHYde Ui Uity Wi HeTaddie SR odl dd dg-lddbeid Jel ([ddhed) & 909 e

1 N1 SRICRIS gfas guiH HUd, o Ydac A SR 2= Rdd AP Udid gigd 3 1 3
Afrelt piadm Ad Midbreasd siidRad wifddre-warTdrad s-aid sife dfde T-e uRurdt g«d,
g sl GHRICID (I el 91 I Hed 3fe | SURIEH didh & Jurd e Hie' feRd fauet S
o 31 Wiad, Y dep el IId1aRUID -4 Rdd ddd WITdRiTd &d, 9 DIl Ldied gd Yeuils 4dd glud
|

AT & TG ST UgH BIHI =T g 3ifes, Sl P od, Aig Iad ol 9y | Hidel Has
THTO -1 HRd U9 WRINT S, HROT 3RY gd Hidd-2R es HfIRed 31 YdR =1 H3d Jiadg
A Td o | afer A 1o Wies ATeH §HICE 0 W B9 | Hddd TE-ID & o U Riedd
IR BT, b GG fauH AU gd 3 SAUBIR -3 Uhd Db Wdd U, o A
HIdard slderaH Ad M YT &4 |

AddD -1 &8 RIeTd 38R0 HUd -

1. 94|
2. W1
3. UrdH
4. o@=E
1) 1
(2) 2
3) 3
4) 4

1[Option ID=6197]
2[Option ID=6198]
3[Option ID=6199]
4[Option ID=6200]

Sl. No.101
QBID:3201001




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB. UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

%]

=
«

=

FIM|FIM|FI M|F|IM|F|M]| F

22416731116 [ 443 1500 | 334 | 454|236 | 235] 336 | 357
456|346 |256| 366 | 345|478 | 285[ 256 | 166 | 346 | 287
388]3461456( 124 | 456|235 1235[ 374 | 599 ] 589 | 190
37811241235[{235|388]255|175(324 | 198 ] 189 | 256
234 1120]2411156] 350|234 | 124 |165] 124 [334] 155 | 181
353 |325|348|174|399 | 439|358 ]234|125]235] 278 | 192

=it <1 778 ferT § YR & 38 W6 A-F H RUd 38 APaHhd dobl, Tqeiefs, G, !, dtef,
TS 3le! SR Yailals H SRR GeNT (M) 3R Higars{l (F)db! I YaiRid 1715 § | difcidl & sfidbs] &
STYR TR YUY T 3T IfoTU :

s H§ HHAING] BT Ae-aR fqawu

[l 01 P2
A | e |

=
Y]
b

eal [l lwl R foe] s
e B3 B3] k¥

¥F THatems | doeet THT dtoft | emgeidt | getens

BIGES \L M F M F M F M F M F M F

A 333 224 673 (116 (443 |500 [[534 (434 (256 2335 336 337
B 254 436 346 236 366 345 |[478 (285 |236 166 346 (287
C 437 388 346 (456 (124 |436 |[235 (235 (574 599 589 190
D 114 378 124 235 |[235 ||388 [[255 175 (324 198 189 ||236
E 234 120 241 (136 (350 (234 |[124 (165 (124 334 155 ||181
F 353 325 348 (174 (399 [439 |358 [|234 125 235 278 192

The ratio of the number of females to the number of males in City-E working in SBI, UCO and IOB together is :

1173 2175
2 L5 o Ny
X AT NTT
4.192:175

(1) 1

(2) 2

(3) 3

(4) 4

Qe E H 1SS, gl 3R 1Sl H GAY DR AfaIsh &1 T iR Yl 61 YT BT 341 18 2

L. 4955175
2, LIS 1TF
5. 4325 107
2 B P B e

1

(2) 2

(3) 3

4 4

1[Option ID=8601]
2[Option ID=8602]
3[Option ID=8603]
4[Option ID=8604]

Sl. No.102
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB. UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

%]

=
«

=

FIM|FIM|FI M|F|IM|F|M]| F

5]

22416731116 [ 443 1500 | 334 | 454|236 | 235] 336 | 357
456|346 |256| 366 | 345|478 | 285[ 256 | 166 | 346 | 287
388]3461456( 124 | 456|235 1235[ 374 | 599 ] 589 | 190
37811241235[{235|388]255|175(324 | 198 ] 189 | 256
234 1120]2411156] 350|234 | 124 |165] 124 [334] 155 | 181
353 |325|348|174|399 | 439|358 ]234|125]235] 278 | 192

=it <1 778 ferT § YR & 38 W6 A-F H RUd 38 APaHhd dobl, Tqeiefs, G, !, dtef,
TS 3le! SR Yailals H SRR GeNT (M) 3R Higars{l (F)db! I YaiRid 1715 § | difcidl & sfidbs] &
STYR TR YUY T 3T IfoTU :

s H§ HHAING] BT Ae-aR fqawu

-~

[l R0 =21 B0
Ny

s

=
Y]
b

eal [l lwl R foe] s
e B3 B3] k¥

¥F THatems | doeet THT dtoft | emgeidt | getens

BIGES \L M F M F M F M F M F M F

A 333 224 673 (116 (443 |500 [[534 (434 (256 2335 336 337
B 254 436 346 236 366 345 |[478 (285 |236 166 346 (287
C 437 388 346 (456 (124 |436 |[235 (235 (574 599 589 190
D 114 378 124 235 |[235 ||388 [[255 175 (324 198 189 ||236
E 234 120 241 (136 (350 (234 |[124 (165 (124 334 155 ||181
F 353 325 348 (174 (399 [439 |358 [|234 125 235 278 192

The approximate percentage of the number of females with respect to the number of males across all the banks
together in City-B is:

1. 88%
2.98%
3.78%
4. 86%

1) 1

) 2

(3) 3

(4) 4

e} B H el o H cra: Hrikd Afgarsii &) T gosl @1 Ul &1 T fdraT Uia=d ¢ 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8605]
2[Option ID=8606]

3[Option ID=8607]
4[Option ID=8608]
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB. UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

%]

=
«

=

FIM|FIM|FI M|F|IM|F|M]| F

5]

22416731116 [ 443 1500 | 334 | 454|236 | 235] 336 | 357
456|346 |256| 366 | 345|478 | 285[ 256 | 166 | 346 | 287
388]3461456( 124 | 456|235 1235[ 374 | 599 ] 589 | 190
37811241235[{235|388]255|175(324 | 198 ] 189 | 256
234 1120]2411156] 350|234 | 124 |165] 124 [334] 155 | 181
353 |325|348|174|399 | 439|358 ]234|125]235] 278 | 192

=it <1 778 ferT § YR & 38 W6 A-F H RUd 38 APaHhd dobl, Tqeiefs, G, !, dtef,
TS 3le! SR Yailals H SRR GeNT (M) 3R Higars{l (F)db! I YaiRid 1715 § | difcidl & sfidbs] &
STYR TR YUY T 3T IfoTU :

s H§ HHAING] BT Ae-aR fqawu

-~

[l R0 =21 B0
Ny

e o e
s

=
Y]
b

Gk gwdtens | doadt | gwr | foidt | omdeRdt | gdtens
Wl M [F M [F M [F M [F M |F |m [F
A 553|224 [673 [116 443 J500 [534 Jas4 256 [235 [556 [357
B 254|456 [346 [256 |366 [345 [478 |o85 [256 [166 [346 |287
€ 457|388 346 [456 124 [us6 [235 Jo3s 574 [599 589 190
D 114 378 124 [235 [235 [388 [255 J175 [324 [ios8 189 [2se
E 234 [120 [241 [156 [350 Jo34 J124 Jues Ji24 [334 155 [is1
F 353 325 [348 [174 [399 [439 [358 [234 [125 [235 [218 [192
The number of females working in UCO from City-A is approximately % more than the number of

females working in PNB from the same city.

1.278%
2.182%
3. 180%
4.331%

1 1

) 2

(3) 3

(4) 4

AER A H YD d H Hreivd Afgarsil o1 S@ 34! g | Uivasl # HreiRd Afgarsd S G& 3 @
faram wfcra sifere § 2

1. 278%
2. 182%
3. 180%
4.331%
(1) 1
(2) 2
(3) 3
(4) 4

— 2
o

o™

I

1[Option ID=8609]
2[Option ID=8610]
3[Option ID=8611]
4[Option ID=8612]

Sl. No.104
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB. UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

%]

=
«

=

FIM|FIM|FI M|F|IM|F|M]| F

5]

22416731116 [ 443 1500 | 334 | 454|236 | 235] 336 | 357
456|346 |256| 366 | 345|478 | 285[ 256 | 166 | 346 | 287
388]3461456( 124 | 456|235 1235[ 374 | 599 ] 589 | 190
37811241235[{235|388]255|175(324 | 198 ] 189 | 256
234 1120]2411156] 350|234 | 124 |165] 124 [334] 155 | 181
353 |325|348|174|399 | 439|358 ]234|125]235] 278 | 192

=it <1 778 ferT § YR & 38 W6 A-F H RUd 38 APaHhd dobl, Tqeiefs, G, !, dtef,
TS 3le! SR Yailals H SRR GeNT (M) 3R Higars{l (F)db! I YaiRid 1715 § | difcidl & sfidbs] &
STYR TR YUY T 3T IfoTU :

s H§ HHAING] BT Ae-aR fqawu

-~

[l R0 =21 B0
Ny

s

=
Y]
b

eal [l lwl R foe] s
e B3 B3] k¥

¥F THatems | doeet THT dtoft | emgeidt | getens

BIGES \L M F M F M F M F M F M F

A 333 224 673 (116 (443 |500 [[534 (434 (256 2335 336 337
B 254 436 346 236 366 345 |[478 (285 |236 166 346 (287
C 437 388 346 (456 (124 |436 |[235 (235 (574 599 589

D 114 378 124 235 |[235 ||388 [[255 175 (324 198 189 ||236
E 234 120 241 (136 (350 (234 |[124 (165 (124 334 155 ||181
F 353 325 348 (174 (399 [439 |358 [|234 125 235 278 192

The total number of females working across all the six cities together is more than 1700 in:

1. all the six banks
2. exactly three banks
3. exactly four banks
4. exactly two banks
)1
) 2
(3) 3
(4) 4

T4t B8 e § Srid Afgarel of Te Fufafad 7 9 foad 1700 T s § 2

1. i sgdPi |
2. Bl < dbl H
3. 3lh IR dPi H
4. BE AR H

(1) 1

2) 2

3) 3

) 4

1[Option ID=8613]

2[Option ID=8614]

3[Option ID=8615]
4[Option ID=8616]
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB. UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

%]

=
«

=

FIM|FIM|FI M|F|IM|F|M]| F

5]

22416731116 [ 443 1500 | 334 | 454|236 | 235] 336 | 357
456|346 |256| 366 | 345|478 | 285[ 256 | 166 | 346 | 287
388]3461456( 124 | 456|235 1235[ 374 | 599 ] 589 | 190
37811241235[{235|388]255|175(324 | 198 ] 189 | 256
12012411156 350 [ 234 | 124 | 165] 124 [ 334 133 | 181
3,3 325]348)174|399 | 439|358 | 2341252351 278 | 192

=i &1 w18 drferepT H HRA P B8 WS A-F A [RYd B¢ UPDd dbi, Tydiefs, di-d!, gel, diafid,
TS 3le! SR Yailals H SRR GeNT (M) 3R Higars{l (F)db! I YaiRid 1715 § | difcidl & sfidbs] &
STYR TR YUY T 3T IfoTU :

s H§ HHAING] BT Ae-aR fqawu

Ny

=

=l enen| g

b

fea] Lozl fwl Fo] oe] =
[S) WY QUSRS ) R

¥F THatems | doeet THT dtoft | emgeidt | getens

BIGES \L M F M F M F M F M F M F

A 333 224 673 (116 (443 |500 [[534 (434 (256 2335 336 337
B 254 436 346 236 366 345 |[478 (285 |236 166 346 (287
C 437 388 346 (456 (124 |436 |[235 (235 (574 599 589 190
D 114 378 124 235 |[235 ||388 [[255 175 (324 198 189 ||236
E 234 120 241 (136 (350 (234 |[124 (165 (124 334 155 ||181
F 353 325 348 (174 (399 [439 |358 [|234 125 235 278 192

The difference between the number of males working across all the six banks together in City-C and the number
of males working across all the six banks together in City-D is:

1. 1022
2.1214
3. 1198
4. 1084

1 1

) 2

(3) 3

(4) 4

ER ¢ & Gl B¢ db] H HIIRG o8] b1 HJT 3R WX D & U B¢ db] § H1ikd YN & Y21 & o
D1 SR [ g 2

1. 1022
2.1214
3.1198
4. 1084

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8617]

2[Option ID=8618]

3[Option ID=8619]
4[Option ID=8620]

Sl. No.106
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Both students and teachers work harder and persist longer when they have a high sense efficacy. Which of the
following does not enhance self-efficacy in both students and teachers?

1. Day to day success in achieving tasks

. Formal school relationships that focus solely on skills

. Assistance from more knowledgeable partners

4. High expectations from those in the environment

1) 1

(2) 2

3) 3

(4) 4

faenaf 3R e de 31 HAR URYH HRd & 3R ded IHY deb S IGd ¢ ofd 3 WHIAIdIEH Bl 3=
Sy gidl g | FafaRad # 9 @ faenfial ok gt 141 A W-uHTdiaresd | i 78l PRl g 2

1. HAYR U1 63 H e Gohed]
2. AF B R Bisd Mu=Eie [Geay Jdy

3. 3{{e[h JHIG TeHIRI T HerIdl
4. GRa H 8 ¥ 3(fUP 3U&MY
@ 2
(3) 3
(4) 4

2
3

1[Option ID=8621]
2[Option ID=8622]
3[Option ID=8623]
4[Option ID=8624]

Sl. No.107
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Direct instruction is most suited when teachers:

1. teach basic skills
2. have their students explore pathways to solve a mathematics problems

3. encourage their students to refine their creativity in art
4. assign critical thinking exercises

1) 1

(2) 2

(3) 3

(4) 4

Y& IR Haiieidh IUgdd gidl ¢ oid (2187 -

1. gfard) H19e T R ed g 1
2. 3 faenfial ¥ nfurdta Tt g9 #34 & Ul B AV aRd ¢ |
3. U faenidai 1 el H 31! oHDdl & UR%PR & [ Wigd $d ¢ |
4, HiANTAS fGaROT 1 Higd § |
o 2
(3) 3
4) 4

1[Option ID=8625]
2[Option ID=8626]
3[Option ID=8627]
4[Option ID=8628]

Sl. No.108
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Match List I with List IT

LIST I (learning style) LIST II (Learning characteristics)
r . T—— 1 Concretg experience and reflective
& observation
B [Pt n Concr.ele expgrience and active
experimentation
¢ s 1L Abs‘fr;ct conc eptualization and Active
experimentation
R v Absrracr_conc eptualization and reflective]
observation

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I1, D-I
2. A-IIL, B-I, C-1IV, D-1I
3. A1V, B-1, C-II, D-1II
4. A-1IV. B-1. C-II, D-1II

(1) 1
) 2
(3) 3
(4) 4

! 11 Yl 1 8 e Sifsy

T 1 (SATTH 2reh) T 11 (T sifi@eamm
A (HYORE 1 Sj;%aguaahﬂa i
SUUR® I [31 4G R Tishy FaRT
S NI TR 3R
C. |[OHdYS 1L wm
D. [gOgeid V. &mjﬁlesﬁiwai! B

frofafad fdeeal & O 98! SR &1 94 SIfoTe -

|
2
3

. A-IL, B-1V, C-II, D-1
. A-IIL, B-I, C-IV, D-11
. A-IV, B-1, C-II. D-1II

4. A-1V, B-I, C-IIIL D-III

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8629]
2[Option ID=8630]

3[Option ID=8631]
4[Option ID=8632]
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Match List I with List IT

LIST I (Type of memory) LIST II (Meaning)
: Memory of remembering the route to
A |Semantic L :
drive home
Memory that contributes to vour
B. [Episodic II. |sense of self. vour own history or
identity
C. |Autobiographical III. IMemory of General knowledge
Sl v Me1_nor}-' of life e\'_enrs that happened
to vou or around vou

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I1, D-I
2. A-IL B-1V, C-1IT, D-I
3. A-IIL, B-II, C-1V, D-I
4. A-III. B-1. C-II, D-IV

1) 1
2) 2
(3) 3
4) 4
! 11 Yl 1 8 e Sifsy
T 1 (W B1IPR) I 11 (34
A lki . ‘aﬁfg’icqﬁmnﬂfwaﬂﬁaﬁ
4 Wfd &l 3MUDI U @, AU
B. BUEHES I |30 SN g e s Ay |
OFTEH Bl &
C. [HTEPUTHD L [GEFg 3 3 i
. L | Y e ST SHTHUE
B B SiaH-geT3 &1 ¥

fofeiRad faeedl & T Tel 3R &1 904 B :

AL B-TIV, C-I1. D-1

CA-TIL B-1V, C-II1, D-1

.A-IIL B-1II, C-1IV, D-1
4. A-II1. B-1. C-I1, D-IV

(1)1

(2) 2

(3) 3

(4) 4

1
2
3

1[Option ID=8633]
2[Option ID=8634]
3[Option ID=8635]
4[Option ID=8636]

Sl. No.110
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If you want to assess the students performance and want to give them immediate feedback, which software will
you select?

1. Kahoot
2. Animaker
3. Plotagon
4. Powtoon

1) 1

() 2

(3) 3

4) 4




gfe 31 faenteidi & B Yaxi &1 Hedih1 1 dlgd & IR 36 debld UdyfP <1 9rgd o, df o g |
9 6T Qe qar &l g1 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8637]
2[Option ID=8638]

3[Option ID=8639]
4[Option ID=8640]

Sl. No.111
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Arrange the following research components in correct sequence:

A. Preparing a research plan

B. Collecting Data

C. Drawing conclusion

D. Formulating a research question/objectives
E. Analyzing data

Choose the correct answer from the options given below:

1.A,D,B,E,C
2.D,A B E.C
3B, DLALCE
4 A,B,D,C,E

(1) 1

2) 2

(3) 3

(4) 4

FrafciRad Qe Heedi o el 3shH H HalRyd BT
A. MY GISHT AR 6=l

B. Hibs Uhd Hl

C. e faran

D. TMY YY/3E ] Bl (=Y

E. 3ol Pl fdRadyur

< feu Y fab el H O 9 I9gad IR &1 99 DIT:

LADB & C
2.D.A,B.E C
3.B. DA C.E
4. A,B,D,C.E

(1

(2 2

(3) 3

(4) 4

1[Option ID=8641]
2[Option ID=8642]
3[Option ID=8643]
4[Option ID=8644]

Sl. No.112
QBID:3201012




In a data set any extreme value, either very large or very small, compared to the rest of the data, is said to be:

i

Xceedance
utlier
Xtreme
utsider

Q

1
2
3

i

4,
(1)1
(2) 2
(3) 3
(4) 4

U AHiPbsl b =0 H [HUl 3/ 0 &l ol Y 3| & ga-l § 91 di 9gd 9141 9gd el g, hgdldl o
|

®)

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=8645]
2[Option ID=8646]

3[Option ID=8647]
4[Option ID=8648]

Sl. No.113
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In online surveys, which of the following are sampling issues ?

A. People in a household may use the same computer, as they have access to only one.
B. Many respondents may have multiple email IDS.

C. Internet users constitute a biased sample of the population

D. Sampling frames for online surveys are cheap.

E. The governments restrict online surveys.

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.B, Cand D only
3.C,D and E only
4. A, CandD only

@1

() 2

(3) 3

(4) 4




TS gdamn # Fafafad § 9 Si-o9 3 gidagT 4g € 2

A. Tod! Th TR & ART U &l HRICR 1 YART Hd g Hifcb 3 UTH HIA Ueb gl HR ¢ |
B. 3P JuRaldisll @ dgied SHd UgdH (ID) Bl Ihdl g |

C. $eXIe YHIad] S-ERe] &1 U Jaiie! ideRigld ¢ |

D. HITeATg" Hd&full & fo1g Ufd=ri hH 9% ¢ |

E. WRPR A3 A&l &l Uidaled Hdl g |

i fau Y fdedl # 9 a4 Iugdd TR &1 99 DI

1.$dd A.B. C

1[Option ID=8649]
2[Option ID=8650]
3[Option ID=8651]
4[Option ID=8652]

Sl. No.114
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Mean of a data set is equivalent to:

1. First quartile of that data
2. Second quartile of that data
3. Third quartile of that data
4. Interquartile range of that data
1) 1
(2 2
(3) 3
(4) 4

[l U SfidrsT gH= &1 A1 -5 H 9 [y GAM g 2

1. 39 s BT Uy agid

2. I Hibs! Dl fgdia agded
3. 39 SHibsl D1 Jairg aqdd

4. 3% gl bl 3id: gadd IRIY
1) 1

() 2

3) 3

(4) 4

1[Option ID=8653]
2[Option ID=8654]
3[Option ID=8655]
4[Option ID=8656]

Sl. No.115
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Given below are two statements:

Statement I: Like correlation, statistical regression examines the association or relationship between variables.

Statement II: The primary purpose of regression is prediction.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
1) 1

) 2

(3) 3

4) 4

TS puTferTUe:

YA : Geua Dl Hifa, TiReIH T Gl @R] & Aledd 3HUdl 3¢ did & Gaell I oiid Bl g |
DY I : GHIYTU T YYD 3639 Ul o |

IR HUF & 3ATelld H, A fGU 178 fadbedi § g1 IR 1 994 DI

1. FUTIR I SH Tol g |
2. FYF ISR I aHI A & |
3. FYH 1 el 6, AP YT M A & |
4. HUF1TTAd 6, Wfh- HUT 1 Tol g |

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=86571]
2[Option ID=8658]
3[Option ID=8659]
4[Option ID=8660]

Sl. No.116
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In governance. communication is normally used as a means of:

1. Gender division
2. Preserving power
3. Encouraging illegal actions
4. Alienating the masses
1) 1
(2 2
(3) 3
(4) 4

QT H, SUYUT &1 TR IR 9 J 9 {9 & 91e[ & 29§ [Ba1 S1di g 2

fefwr fauror

Il DI &

. 37dY DTl Bl UieTTgd DAl
ST B [dHE S

1) 1
(2) 2
3) 3
(4) 4

[ R

=

1[Option ID=8661]
2[Option ID=8662]
3[Option ID=8663]
4[Option ID=8664]
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A good part of communication in human society is through:

1. Para language
2. Infographics
3. Formal language
4. Hidden emotions
)1
(2 2
(3) 3
(4) 4

A9 GATS § Y90 &1 U 91 foen e A O feu & ArsgA g giai g 2

1. TRTHTHT
2. YA - SR (3B IIIh )
3. IO HTST

4. U549 19

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=8665]
2[Option ID=8666]
3[Option ID=8667]
4[Option ID=8668]

Sl. No.118
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Which of the following elements involving social positions are determinants of communication from the eastern
perspectives?

A. Absence of leadership

B. Ego-centric individualism
C.Role

D. Status

E. Power

Choose the correct answer from the options given below:

1. A, Band C only
2.B,Cand D only
3. A, Cand E only
4.C,D and E only

1) 1

(2 2

(3) 3

(4) 4




gl uRYed ¥ Q1SS Ual i AU are i 3 Fgifdbd da SuNo & [HeRe g

A. FIJcd &I 3HIT

B. 3(gH bi<id Afddare

C. HHPT

D. eiad

E. Qi

-1 fau 7 fashedl § 9 Fel IR &I =g DI :

1.%dd A, B, C
2.$ddB,C,D
3.hdd A, C.E
4. $dd C, D, E

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8669]
2[Option ID=8670]

3[Option ID=8671]
4[Option ID=8672]

Sl. No.119
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Given below are two statements:

Statement I : The linear model of communication is used for generating intentional results.

Statement II : The linear model of communication was the basis of propaganda during the World War II.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false
4. Statement I is false but Statement II is true

1) 1

(2) 2

3) 3

4) 4

il Py fRu e B

DY 1 : YUY & WG HiSd 1 HINT 0T gRomH Hebrad & fog fbar srarg |
DY 11 : YUY BT 1Y Alsd fdid f99 g & SR i YaR BT SR T |
SWIdd HYT & el H, I fau MU fabedl # 95t 3R &1 99 Pifoie:

1. FUFIAR A I ¢ |

2. FYT I AR SH 3TA § |

3. FYHA 19 g, Wi HUT I A © |
4. FYFI3A g, A FUA N T & |

@ 1
) 2
(3) 3




(4) 4

1[Option ID=8673]
2[Option ID=8674]
3[Option ID=8675]
4[Option ID=8676]

Sl. No.120
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Given below are two statements:
Statement I : Coercive communication is ethical, powerful and result-oriented.

Statement II : In international power politics, unethical propagandist communication promotes national prestige
and security.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

(2) 2

(3) 3

4 4

EIERAEAIC A 4
DY 1 : U GUYOT i, TR 3R GRUTHAE a1 g |
DY 11 : SHTRAPTY A1 IS H 3D sifergrard] Suwor gty uiisT 3R YRef o1 §¢rdl i gl

JURIFT HYUT & 3HTclid H, i< ST T [dh el H gt IR I 99 BIfoT:

1. FUFI3R IS 9 g

2. FYF 1 AR I aHI 3T &

3. FYF 1T 5, dih- DU 11 3T ©
4. BT g, AfbPTFUA I TT &

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8677]
2[Option ID=8678]
3[Option ID=8679]
4[Option ID=8680]

Sl. No.121
QBID:3201021

Find the next term in the series given below:
-7,-5,-1,5,13,7

1. 18
2.20
3

% b
(1) 1
) 2
(3) 3
(4) 4

JA‘ .




1= €1 718 #fae | SFTel yg J1d i

—7;=5,-1,5;13,?

L.
2
3

=
—
-~

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8681]
2[Option ID=8682]

3[Option ID=8683]
4[Option ID=8684]

Sl. No.122
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N men can complete a job in 12 days. The same job can be completed by (N+6) men in 8 days. Find the value of

11

L R R

B

12
1) 1
) 2
(3) 3
(4) 4

N oHfeki fbdl B 1 12 f&1 & g1 HR Hebdl ¢ | I B DI (N+6) Al gRI 8 fé=11 & g1 foban o1 gebar
€ | N &1 HH J1d Hiforg -

11

L R S R

B

12

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8685]
2[Option ID=8686]

3[Option ID=8687]
4[Option ID=8688]

Sl. No.123
QBID:3201023

A beggar has Rs. 15 comprising of 50 coins of 25 paisa and 50 paisa. How many 25 paisa and 50 paisa coins are
there with the beggar respectively?

1.40, 10
2.30,20
3.35,15
36, 14

B

(1) 1
(2) 2
(3) 3
(4) 4




U [HRaRT & g 25 T4 3R 50 T & 50 Riden| &l Faar 15 994 ¢ | fHaR & O HHR: 25 09 3R 50
T & fhdd fad g »

1.40. 10
2.30,20
3,35, 15
36, 14

=

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8689]
2[Option ID=8690]

3[Option ID=8691]
4[Option ID=8692]

Sl. No.124
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If the price of sugar increases by 25%, determine the percentage by which its consumption be reduced so as not
to increase the expenditure on it?

L O

=

+35Y
@) 1
) 2
3) 3
(4) 4

gl ==l &1 el 25% 9¢ Sdl g, i 39b SUHNT H fdod- Wic=Id &I HHl & o o9y 38 R oag 1 gl =
4

1. 25%
2. 30%
3, 207
.35%
1
(2) 2
(3 3
4 4

-“Jl .

1[Option ID=8693]
2[Option ID=8694]
3[Option ID=8695]
4[Option ID=8696]
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A lady while going to her college in a car drove 20 kms towards north and then 15 kms towards west. She then
turned to the south and covered 10 kms. Further she turned to the east and moved 12 kms. Finally she turned
right and drove 10 kms. How far and in which direction is the lady from her starting point ?

1. 5 km, South
2. 5 km West
3. 3 km, West
4. 3 km. North

1) 1

(2) 2

(3) 3

4) 4




U Hlgdl 3T Dicol oild 5T IR D1 371 20 fbAT 3R R 15 fhHt gfgm &1 3R dR Il & | 98 e
Gf&u o SR Hadl § 3R 10 fbl &1 g a8 3l & | 311 98 Yd D1 AR 7S & 3R 12 fbdl Fadl g |
3{=ck: 95 aligHil 3R HSdl g 3R 10 [HH R Fardl ¢ | Aigdm 30 3R 95 U fba-l gr 3R [y
feamdg?

.5 Topil, aféur
.5 Tohdl, ufgm
.3 Tl ufym
3 ool IR

(TS o R

&

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8697]
2[Option ID=8698]

3[Option ID=8699]
4[Option ID=8700]

Sl. No.126
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"Environmentalists are continually harping about the dangers of nuclear power. Unfortunately, electricity is
dangerous no matter where it comes from. Every year hundreds of people are electrocuted by accident. Since
most of these accidents are caused by carelessness they could be avoided if people would just exercise greater
caution." Which fallacy is committed in the above argument?

. Red Herring

. Slippery Sope

. Strawman

. Hasty Generalization
1) 1

) 2

(3) 3

(4) 4

"UIARUIdE NS Ioil & Wl & gR H R §1d I @ © | gHFGaR!, [degd WoRA1® ¢, 918 Ig fhdl
H} i ¥ W gidil g1 | Ul a8 Yebsl @ivT fdagd 3Ud &1 gdel & [RIGR 8l & | 378 3 b
gHeHIU SHEUTH & HRUT EfCd gldl 6 . 3 gc1371 B bl ol Yebdll § dfa o7 e HaeTii e "
SRIF HYTH B - T b alv g ?

1.¥s giar _
2. fhaagad g (Rt <)
3. UMYl () b &y
4. ffq=TRd gD
1) 1
) 2
3) 3
4) 4

S S T O

1[Option ID=8701]
2[Option ID=8702]
3[Option ID=8703]
4[Option ID=8704]
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Which of the following statement is logically equivalent to "No birds are mammals"?

1. Some birds are not mammals.
2. Some non-birds are mamimals.
3. No mammals are birds.
4. All non-birds are mammals.
11
(2) 2




3) 3
(4) 4

fafafad 4 8 SF-91 HYH "$ig gall WHYRE 6l 5" U dlfdhs U I YA © 2

1. 9% Y&l U 61 € |
2. 9% IR-Ul WHYRI § |

3. DI3 YR Uaft TeT § |
4. 9 IR-uefl Tyl § |

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8705]

2[Option ID=8706]

3[Option ID=8707]
4[Option ID=8708]
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Which of the following is contrary to the statement "No mammals are birds"?

1. No birds are maminals.

2. Some mammals are birds.
3. All mammals are birds.
4. Some birds are mammals.
1) 1

) 2

(3) 3

4) 4

TS TS Ul el @ e O FRufefed § 9 1 faudia &

1. Pls Uefl WHYRI el & |
2. TO KAYRIUEN § |
3. g TWUR gelt € |
4,93 Y&l WUl ¢ |

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8709]

2[Option ID=8710]

3[Option ID=8711]
4[Option ID=8712]

Sl. No.129
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If the statement "Some animals are birds" is given as false then which of the following statements can be
immediately inferred to be false?

1. Some birds fly.
2. Some animals are not birds.
3. No animals are birds.
4. All animals are birds.
11
(2) 2
(3) 3
4) 4




e DU "He SR Ul g 3 & Y H a1 71 8| dd FEfaiRad o1F-91 S drehiidd U d 3/d
& &0 H AT fHa1 ol bl g 2

1. 98 Ul ISd g |
2. g SI-aR Y&ii Igi g |
3. Pl oHaR el el & |
4. g SR Tefi § |

o 2

(3) 3

4) 4

1[Option ID=8713]
2[Option ID=8714]
3[Option ID=8715]
4[Option ID=8716]
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Given below are two statements:
Statement I: According to Classical Indian School of logic (Nyaya) one can infer for oneself.

Statement II: According to Nyaya school inferring for oneself is a psychological process and does not require the
formal statement of the different members of a syllogism.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
(2) 2
(3) 3
) 4

- g Py AT U B
DY I: A (1) & HRAT AR Hd o IR ¥ o [eg 1 A1 (a1 ot 9ol © |

DY I : I Hd & IR W & 018 A T U JAIGIT-D WihdT ¢ 3R Ahaia & (3F 9R0l &
HIDIND BUT Bl HIDdl 11 gldl © |

SWRIFT HYF & 3HTclld H, 7 ST T fab el # 68 Iugad 3R &1 941 Hifoig ;

1. PUF IR I SHI Tal g |
2 FYH TR aHI TTad & |
3. FYFITel g, APTPUT N A G |
4. YT ITTAA ©, AfbT FPUT I TBI ¢ |

(1)1
) 2
3) 3
(4) 4

1[Option ID=8717]
2[Option ID=8718]
3[Option ID=8719]
4[Option ID=8720]

Sl. No.131
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is a set of rules that must be obeyed when transferring files across the Internet.

il &1 U GH= g [oTehT Ser-1¢ R Il & IR H SHardd: yre a1 SHT 91y |

1.t T T
2. g AR T
3. e A
4. 35 T Ot

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8721]
2[Option ID=8722]

3[Option ID=8723]
4[Option ID=8724]
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The action of sending emails to fraudulently obtain another person's bank details is called:

1. Phishing
2. Pharming
3. Spamming
4. Smishing

(1

(2 2

(3) 3

(4) 4

fordl 3 e & dob-Hefdd fqarul & HUcUdd UItd d gd SHd Yol Dl B R Healdl g ?

1. T IR
I I i. I

T
4. R

1) 1

(2) 2

3) 3

4) 4

b b

1[Option ID=8725]
2[Option ID=8726]
3[Option ID=8727]
4[Option ID=8728]
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Which of the following are the advantages in using Solid State Drives (SSDs) rather than Hard Disk Drives
(HDDs) in Laptop computers?

A. SSD is much lighter than HDD.
B. SSD has a lower power consumption than HDD.
C. SSDs are thick compared to HDDs due to no moving parts.

Choose the correct answer from the options given below:

.Aand B only
.Aand C only
.Band C only
.A,Band C
1) 1

(2) 2

(3) 3

(4) 4

oUeTd HHER H gIS (S S13d (HDDs) Bl HUET WIS e SIZd (SSDs) & Y4 o HHfRad oI -4
AHE 2

A. HDD®] 3{U&fl SSD {4 geobl gldil & |
B. HDD®! 3{U&fl SSD H &H fdggd Wud gidi 3 |
C. HDDs &1 qa-II¥ SSDs HIET gidl g i 378 I IdHM HFT gl Ul Srdl g |

™

i< faU 7Y fapedl # 9 9ad Iugdd IR &l 999 Hifolg -

1. $dd A 3R B
2. Had AR C
3. HAd B 3R C
4.A.B3RC
@ 1
) 2
(3) 3
4) 4

= b b =

1[Option ID=8729]
2[Option ID=8730]
3[Option ID=8731]
4[Option ID=8732]
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Match List I with List IT

LISTII
LIST I (Statement) (Value)
A [Base-10 (denary) value of the binarv number: 100000 I 100

Internet service provider advertises a download speed of
B. |80 megabits per second. What is the time taken in I |14
seconds to download an 80 megabvte file ?

A music file 15 80 megabytes in size and MP3 file
icompression reduces the size of a music file by 90%. m ko2
" [The number of MP3 files of the size after compression ?
that can be stored on an 800 MB CD

[What is the denary (base-10) equivalent to the v s
fhexadecimal digit E? :

D.

Choose the correct answer from the options given below:

1. A-II, B-1V, C-1. D-III

2. A-III. B-1V, C-1, D-1I

3. A-1, B-II. C-IV, D-III

4. A-1II. B-L. C-IV, D-1I
(1) 1




) 2
3) 3
(4) 4

YT 11 YT 1 ¥ e SISy

T 1 @H) T 1 @)
A G T - 100000 BT 9H - 10 GEMYRLAE | 1 100
ZoX-Ie 9al UGTaT 80 571 f92g 2 Uid Tbs ®i
B. SIS 7Ifd WaIld xdl o | Udh s0 @ &1 | IO [14
BISd @I SI3als d- 4 da- 5d T |
TE Tifld BIgd TR H 80 TEEE & § 2%
MP3 THIgd S o GTiid BISd B 90% a® &H B
C. [Gd1 8139 HHR 3! fva Ta U 3 BIZal &1 I 32
%ﬂ'@qwmsm@aﬁaﬁ%ﬁ@%ﬁmmw
YISIYR] HP E & THqH GRNYRT (§9-10) G=T
@2

i< fau 71U f[a el § 9§ Yol 3k &I 99 HifvlT :

1. A-II, B-1V, C-1. D-III
2. A-IIL. B-1V, C-I, D-1I
3. A-L B-II, C-IV. D-1I1
4. A-III. B-1, C-IV, D-1I

(1) 1

) 2

(3) 3

(4) 4

V. [8

1[Option ID=8733]
2[Option ID=8734]
3[Option ID=8735]
4[Option ID=8736]
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Give below are two statements:
Statement I : CDs and DVDs are described as magnetic storage devices.

Statement II : Laser printers are made up of a print head consisting of nozzles that sprays droplets of ink onto the
paper to form characters.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

1) 1

(2) 2

(3) 3

4) 4




CIERAEZIC AR I
DY 1 : Hiet AR SIS TED I UG Gl (3D & 4 H & S1d & |

DY 11 : IR e T8 310 N § 94 81d € S fart & FAfo 8q Prel R @iel o1 3idt el &
eHd A A ASd 8ld 6 |

IWIad HUF P AP H, Hid [GU U [dHed] § U gl IR B 99 HIolU -
1. HYTISMR IS I g |

U1 AR I EH A G |
HUT 1T §, AT HYT I 3T © |
YT A g, dfbd YT I I © |

(1)1
) 2
3) 3
(4) 4

B oW R

1[Option ID=8737]
2[Option ID=8738]
3[Option ID=8739]
4[Option ID=8740]
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Give below are two statements:

Statement I : The Montreal Protocol to protect the Earth's ozone layer is to date the only United Nations
environment agreement to be ratified by every country in the world.

Statement II : Paris agreement establishes voluntary commitments by all parties to prepare, communicate and
maintain a Nationally Determined Contribution (NDC).

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.

4. Statement I is false but Statement II is true.
1
(2 2
(3) 3
4) 4

TR FA T E:

DY : Yedl I ST URd &b TR&UT & ¢ Hifgad Wielpld afieidd b1 qgiarul el Wged AP 61
THHTA BRR ¢ forgad] fdy & Jdd YR BI g |

HYF 11 : TRY IR AP TR R R TFEH (GTSIRH) TR B, FUNd B 3R &0 HH &
O+l geif gR1 Wisd daagard Ifid Harg |

SWRIad HYF & 3ATdlD H, Fid fGU 77U fah e § Tgl IR &I 994 Hifoi:

1L PYFISNMR I qd§ |

2. FYFI AR I aHI A |

3. FYH 1T 6, dlb YT T 3T ¢ |
4 FYFI13NT 5, AP PYTITI G |

(1) 1
) 2
(3) 3
(4) 4




1[Option ID=8741]
2[Option ID=8742]
3[Option ID=8743]
4[Option ID=8744]
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Give below are two statements:

Statement I : Thermal pollution, usually effluent from cooling systems of power plants or other industries, alters
water temperature in a lake or stream.

Statement II : Humans also cause thermal pollution by altering vegetation cover and run-off patterns.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement [ is true but Statement II is false.
4. Statement I is false but Statement II is true.

1) 1

(2) 2

(3) 3

4) 4

TR I T E:

DY 1 : AT faggd gt sryar 3= I &1 Wil yonferdl 9 §fg:arg. ardia wgyor gl a1 9id
TaTg | o & ard & gRadq dx adl g |

DY 11 : AT I Tl S31e 3R Sid YdTg! Wyl ol uRafdd B2 drdia Uguu i g |

IWRI] HUT & 3AdlP |, i (ST U [dbed] H ol 3R &I 994 Hiforg:

1. PUFISR IS Td g |

2. FYF TR M aHI A |

3. FYFITA 5, Al PUT 1 3T ¢ |
4. HUTI3NA E, AT FUT I TAE |

(1)1
) 2
3) 3
(4) 4

1[Option ID=8745]
2[Option ID=8746]
3[Option ID=8747]
4[Option ID=8748]
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Which of the following substances has the least Ozone Depleting Potential?

1. Chlorofluorocarbons
2. Hydro chlorofluorocarbons
3. Carbon tetrachloride
4. Halons
11
(2) 2
(3) 3
4) 4

fAafarad 4 O fog gerd &1 SISl 3{qa YHTedr gAaa § 2

1. FARIFRIbTe
2. BIS S IFARIUIRIBTE
3. BIEF CCTHRIRE S

4. 509




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=8749]
2[Option ID=8750]

3[Option ID=8751]
4[Option ID=8752]

Sl. No.139
QBID:3201039

Potential regions of geothermal sites are:

A. Circum pacific belt
B. Himalayan Region
C. Delta

D. Subduction zones
E. Rann of Kachchh

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3. A,BandD only
4. A, D and E only

11

) 2

(3) 3

4) 4

YTdTg el & THTeT &7 8

A. IR &7 (TR$H URfhd dee)
B. feATad &

C. 3T

D. FHad T (Fasae) &

E. &= HI 0]

4 feu e famedl § 9 gl 3R &1 99 ifofe :

1. $Fdd A, B, 3R C
2. $Hdd B, C 3R D
3. Had A, B 3R D
4. HddA. D 3R E

(1)1
) 2
3) 3
(4) 4

1[Option ID=8753]
2[Option ID=8754]
3[Option ID=8755]
4[Option ID=8756]
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International Solar Alliance (ISA) has its head quarter in:

1. United States
. Switzerland

. India

. France

1) 1

(2) 2

(3) 3

[TV ]

=




(4) 4

SHRTPT UR Y (313THY) DT HeATed Fafaldd § 9 Hgi R g -

1. |G 1T HARIDT
2. RgesRdg

3. HRd

4.1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8757]
2[Option ID=8758]
3[Option ID=8759]
4[Option ID=8760]
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National Council for Vocational Education and Training (NCVET), an overarching skills regulator, was notified
in the year:

1.2018
2.2015
3. 1956
. 1961
(1) 1
(2) 2
(3) 3
(4) 4

gaﬂ?{aﬂu@:q I fal-RarHe, IP1Y araiie Rian ud uiRiam aive (@iidis) o av sidgfd
Ao

=

1. 2018
2. 2015
3. 1956
. 1961
(1) 1
(2) 2
3) 3
(4) 4

=

1[Option ID=8761]
2[Option ID=8762]
3[Option ID=8763]
4[Option ID=8764]
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Which of the following are the ancient Indian texts on Astronomy?

A. Sankhyakarika

B. Siddhanta Siromani
C. Surja Siddhanta

D. Grihya Sutras

Choose the most appropriate answer from the options given below:

.A.Band C only
.B and C only
.A,B,CandD

. A, Band D only
1

2) 2

3 3

= o b =




(4) 4

FgfaRad o 9 e - f09H WU YRA 9y dH Y ¢ 2

A. GRSTHIRSG
B. Riid R0
C. Yo Rrgid
D. T g

i< faU Y [dpedl # 9 9ad Iugad IR b1 99 DIfT:

1.$ddA. B3R C
2. HAdB 3R C
3.A.B,C3IRD
4. FdAA. B3R D
1) 1
() 2
(3) 3
4) 4

1[Option ID=8765]
2[Option ID=8766]
3[Option ID=8767]
4[Option ID=8768]
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Which of the following are the characteristics of conventional learning?

A. Cost-effective

B. Teacher-centered learning
C. Learner oriented

D. Prescribed curriculum

E. Require regular attendance.

Choose the correct answer from the options given below:

1. C, D and E only
2.B,Dand E only
3. A.Dand E only
4. A, B and D only
1) 1
() 2
(3) 3
(4) 4

fFrafeRad # 9 URYR® SfferT &) faRivai s i g 2

A. ARTI-HHIdl

B. & - Hl=d e
C. S{ETHEd - 3HE

D. iR greT=at

E. Frafia SuiRufa emawas

i fU TTT [dded| H U gl IR &l 999 DI :

1.%dd C, D 3R E
2. $dd B.D 3R E
3. had A, D 3R E
4. HdAdA. B3R D

) 1




(2) 2
3) 3
(4) 4
1[Option ID=8769]
2[Option ID=8770]

3[Option ID=8771]
4[Option ID=8772]
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Higher order thinking skills can be promoted through:

1. Rote learning

2. Active learning
3. Passive learning
4. Tutorials

1

(2 2

(3) 3

(4) 4

3= S - oIed o FgfalRad 7 9 foas gr1 vienfed fPar ST asdi g 2

. gihg-3ifemmH
fafspy aiferm

[ R O R

e

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8773]
2[Option ID=8774]

3[Option ID=8775]
4[Option ID=8776]
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Who among the following was the Governor-General and the Viceroy who passed the acts of incorporation in
January 1857, which provided for the establishment of universities at Calcutta, Bombay and Madras?

1. Lord Curzon

2. Lord Dalhousie

3. Lord Lansdowne
Lord Canning

4.
1
() 2
(3) 3
4 4

fFafafad § O 98 TR 9Rd SR IR S YT fora Si=at 1857 H GATGRA &7 ifefrasa uid faar,
(ST Sheiepl, dlvel HR A H fayfaererdl 1 -1 o1 ART U= gafl 2

1. 918 doi
2. TS Sdgloil
3. dls dgsr3d
4. QTS P
o »
(3) 3
4) 4

1[Option ID=8777]
2[Option ID=8778]
3[Option ID=8779]
4[Option ID=8780]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered. wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps, the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.
fafeiRad e &1 ufeu Sk % &1 IR dIfTg

TS Hialdd I W Bl U 3= Hid § HT @I ol Gahdl & : SHRID] GHER UiHd —csH | RY H al
g [REPRYAD Tl & “gad Uadd e AR “Hho! ol HHR" & aR H [eRadl ¢ | 39 ugdl RUid &,
CT%H SHTGIe-TehTIGl & 31U Tided deb Ugd Ul Bl Wb SHATD Y= AT | 39 ardl {1 b g & i
AT GHITG b A TTielt <SiHi IR [FIR 70, 951 1 fasyrg =8l o1 o “Hrebry dd SR o Fd- |
RIS 9 Y 9 g1 Uh 9uilg o HicR ol, 39 301 9id 9 <f | elsH A faral & sfiaiad A foraH
S TAM R d@lb 0y Sl U fbd 399 fadiHl e <R1meHe 9 9 fHfda g1 e | 3@ d mish
B U Y “Td 3R e & 9 H GATH B @ Sl 30715 TR aTd A1 &b (a8 39T U] &1 T
BIUUR & T H ST DI QI YT | THS g HH I HH di SRUMN I Iei@-1d AT | T4H 39 g
YR 1 & il B SR Wil GRIYTAA IR Hdis] GHER Ae0H - 39 |7 &l 99 JHH IR HaR (6] |
G, U gl yardi Tiafafe i forgs afgemst 3 yRi T | Hi forn | gerard dHdred! ggiremy J
el T FHgd D1 o 41 9 d faRiy &1 A6 geul do Hifid 13 | HAAcd W 31 34 Afgarsi # 9
U ol o151 THe S1dl H BTl 1 Ieee DR TRUIRI 1 | TR 3R Qe alfdd HAgayui, gg TH
Sficidd gl AT forg- Yol D1 U8 TgHR - IR Holay fobl fob I1ehT ol Q1S g8 -1 g 3R g [ 35
S Yfal BT HRAGT BT ARTHA BT GHT |

What was the initial response of western press to Ghandhiji's salt march ?

1. Skeptical
2. Appreciative
3. Deceptive
4. Neutral
)1
(2 2
(3) 3
(4) 4

el & THF 3figiad & Ui afgHl U9 ot fiRfY® ufafdar o ot 2

1. Tt
2. YRl 5B
3. YHdH
4. Uy
1) 1
2) 2
3) 3
4) 4
1[Option ID=8781]
2[Option ID=8782]

3[Option ID=8783]
4[Option ID=8784]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered. wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps, the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad meiw i ufeu ok vy &1 S S

TS 3T I W B TP 3= HId U H TS o UHdl & : SRS GHER U6 —csd | ARY H ol
g (AR RYd® el & “gad Uad e AR “Hho! ol HHR" & aR H [eRadl ¢ | 39 ugdl RUld &,
CT%H SHTGI-IhIIRAl & 31U Tided deb Ugd Ul Bl «iehx AT Y= AT | 39 G1dl [l b o & i
AT GHITG b A TTielt S 9= R 70, 951 1 fasyrg el o1 o “Hrbry dd 3R o Fd- |
IRIRG 9 4 9 g1 U 9uilg o HicR ol, 39 U1 9id 9 <f | elsH A o & sfiaiad 1 foraH
S UM R @b 0y Sl T fod 399 fadl e <FR1eHS 9 9 fifda g1 e | 3@ d s
B U UY “Td 3R oHdr & B9 H GAH B a1 ol “a 4015 YT ald A D (g 3915 39T &l U
BIUUR & T H SITIHTA DI IEI AT | THS il HH I HH i SRUMN I Ie@H1d AT | T4H 3 g
YR 1 & il B SR Wil G 7R i YHER AenHd) - 99 07 &l 99 JHH IR SR (6] |
G, g Ugdl yardl Tiatater o o Afgens 7 HIRY S8 H W o | SHISare] Hdlad! IS Ty J
el 1 FHgd D1 fordT o1 o 9 faRiy &1 A6 geul do Hifdd 13 | dAAGd W 341 3-d Afgarsi # 9
U o1 o151 THD 31dl H BTl b1 Ieaie DR FTRUIRI 1 | R 3R e alfdd Agayui, gg THS
Sficidd gl AT forg- Yol D1 I8 TgHR R IR Holay fobl fob 31ehT 1ol [ e g1 -1 g 3R g [ 3%
Higg Yidad! BT YR BT URTHT HAT G |

How did Time magazine describe Gandhi's salt march in its first report ?

1. People would reject the march.
2. He would not be able to complete it.
3. The British supported the march.
4. Gandhiji had the physical strength to lead the march.
1) 1
2) 2
(3) 3
(4) 4

e15H ufdT 7 oot wyw RO § e & 6@ s &1 $3 guiH fdhar 2

1. ST 3fieIdd &I RGIPR B STl |

2.9 39 G ol S U1 |
3. S{USH A sficiad o1 gHA fhar |
4. TSl 7 A (@) D1 Add DR Bl AR Wi o |

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=8785]
2[Option ID=8786]
3[Option ID=8787]
4[Option ID=8788]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered. wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps, the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad meiw i ufeu ok vy &1 S S

TS 3T I W B TP 3= HId U H TS o UHdl & : SRS GHER U6 —csd | ARY H ol
g (AR RYd® el & “gad Uad e AR “Hho! ol HHR" & aR H [eRadl ¢ | 39 ugdl RUld &,
CT%H HTGIIBIRA! & 3 Tided deb Ugd Ul Bl «icbR AT A= AT | 39 G1aT [ fdb g f bl
AT GHITG b A TTielt S 9= R 70, 951 1 fasyrg el o1 o “Hrbry dd 3R o Fd- |
IRIRG 9 4 9 g1 U 9uilg o HicR ol, 39 U1 9id 9 <f | elsH A o & sfiaiad 1 foraH
S UM R @b 0y Sl T fod 399 fadl e <FR1eHS 9 9 fifda g1 e | 3@ d s
B U UY “Td 3R oHdr & B9 H GAH B a1 ol “a 4015 YT ald A D (g 3915 39T &l U
BIUUR & T H SITIHTA DI IEI AT | THS il HH I HH i SRUMN I Ie@H1d AT | T4H 3 g
YR 1 & il B SR Wil G 7R i YHER AenHd) - 99 07 &l 99 JHH IR SR (6] |
G, g Ugdl yardl Tiatater o o Afgens 7 HIRY S8 H W o | SHISare] Hdlad! IS Ty J
el 1 FHgd D1 fordT o1 o 9 faRiy &1 A6 geul do Hifdd 13 | dAAGd W 341 3-d Afgarsi # 9
U o1 o151 THD 31dl H BTl b1 Ieaie DR FTRUIRI 1 | R 3R e alfdd Agayui, gg THS
Sficidd gl AT forg- Yol D1 I8 TgHR R IR Holay fobl fob 31ehT 1ol [ e g1 -1 g 3R g [ 3%
Higg Yidad! BT YR BT URTHT HAT G |

‘What was the first effect of the salt March ?

1. People were confused.
2. Gandhi's followers were reluctant.
3. Gandhi was able to garner world attention
4. Gandhiji's faith in Christianity got reinforced.
1) 1
(2) 2
(3 3
(@) 4

THD HicIe DT Ugdl YHT &1 4T 2

1. ST YiFd ot |

2. il & e gt S g A |

3. il g b1 & S PR U A |
4. 1S o H H Mol B ol Ued gl [l |

11
(2) 2
(3) 3
(4) 4

1[Option ID=8789]
2[Option ID=8790]
3[Option ID=8791]
4[Option ID=8792]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered. wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps, the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad meiw i ufeu ok vy &1 S S

TS 3T I W B TP 3= HId U H TS o UHdl & : SRS GHER U6 —csd | ARY H ol
g (AR RYd® el & “gad Uad e AR “Hho! ol HHR" & aR H [eRadl ¢ | 39 ugdl RUld &,
CT%H SHTGI-IhIIRAl & 31U Tided deb Ugd Ul Bl «iehx AT Y= AT | 39 G1dl [l b o & i
AT GHITG b A TTielt S 9= R 70, 951 1 fasyrg el o1 o “Hrbry dd 3R o Fd- |
IRIRG 9 4 9 g1 U 9uilg o HicR ol, 39 U1 9id 9 <f | elsH A o & sfiaiad 1 foraH
S UM R @b 0y Sl T fod 399 fadl e <FR1eHS 9 9 fifda g1 e | 3@ d s
B U UY “Td 3R oHdr & B9 H GAH B a1 ol “a 4015 YT ald A D (g 3915 39T &l U
BIUUR & T H SITIHTA DI IEI AT | THS il HH I HH i SRUMN I Ie@H1d AT | T4H 3 g
YR 1 & il B SR Wil G 7R i YHER AenHd) - 99 07 &l 99 JHH IR SR (6] |
G, g Ugdl yardl Tiatater o o Afgens 7 HIRY S8 H W o | SHISare] Hdlad! IS Ty J
el 1 FHgd D1 fordT o1 o 9 faRiy &1 A6 geul do Hifdd 13 | dAAGd W 341 3-d Afgarsi # 9
U o1 o151 THD 31dl H BTl b1 Ieaie DR FTRUIRI 1 | R 3R e alfdd Agayui, gg THS
Sficidd gl AT forg- Yol D1 I8 TgHR R IR Holay fobl fob 31ehT 1ol [ e g1 -1 g 3R g [ 3%
Higg Yidad! BT YR BT URTHT HAT G |

The salt march was the first nationalist movement to attract/incur

1. The attention of American press
2. comments by the European press
3. The wrath of the British Government
4. A large number of women participants
1) 1
2) 2
(3) 3
(4) 4

THSD Sficler TH1 Uy Ayardl sfiarer U1 i Faferiad o ot faar |

1. 3R UG &l -

2. R4 9 i fewfomi

3, f9dFl TRHR 1 HIY

4. Aigd gfquTiiEl &1 Ukt g
@ 2
3) 3
(4) 4

1[Option ID=8793]
2[Option ID=8794]
3[Option ID=8795]
4[Option ID=8796]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered. wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps, the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad meiw i ufeu ok vy &1 S S

TS 3T I W B TP 3= HId U H TS o UHdl & : SRS GHER U6 —csd | ARY H ol
g (AR RYd® el & “gad Uad e AR “Hho! ol HHR" & aR H [eRadl ¢ | 39 ugdl RUld &,
CT%H SHTGI-IhIIRAl & 31U Tided deb Ugd Ul Bl «iehx AT Y= AT | 39 G1dl [l b o & i
AT GHITG b A TTielt S 9= R 70, 951 1 fasyrg el o1 o “Hrbry dd 3R o Fd- |
IRIRG 9 4 9 g1 U 9uilg o HicR ol, 39 U1 9id 9 <f | elsH A o & sfiaiad 1 foraH
S UM R @b 0y Sl T fod 399 fadl e <FR1eHS 9 9 fifda g1 e | 3@ d s
B U UY “Td 3R oHdr & B9 H GAH B a1 ol “a 4015 YT ald A D (g 3915 39T &l U
BIUUR & T H SITIHTA DI IEI AT | THS il HH I HH i SRUMN I Ie@H1d AT | T4H 3 g
YR 1 & il B SR Wil G 7R i YHER AenHd) - 99 07 &l 99 JHH IR SR (6] |
G, g Ugdl yardl Tiatater o o Afgens 7 HIRY S8 H W o | SHISare] Hdlad! IS Ty J
el 1 FHgd D1 fordT o1 o 9 faRiy &1 A6 geul do Hifdd 13 | dAAGd W 341 3-d Afgarsi # 9
U o1 o151 THD 31dl H BTl b1 Ieaie DR FTRUIRI 1 | R 3R e alfdd Agayui, gg THS
Sficidd gl AT forg- Yol D1 I8 TgHR R IR Holay fobl fob 31ehT 1ol [ e g1 -1 g 3R g [ 3%
Higg Yidad! BT YR BT URTHT HAT G |

According to the passage. the most significant outcome of the salt march was that

1. The British were able to nullify the effects of the movement.
2. Gandhiji could not achieve his aim of breaking the salt law.
3. The British realized the need for devolution of power with Indians.

4, The salt march ended as a mere local movement of tokenism.
1) 1
(2 2
(3) 3
4) 4

TR & 3UR, THD HGIe BT allded Hgeayul IRuTH -9 H Iy 41 2

1. 3G SfigIer & YHIdl Bl g B g o |
2. TiEfSH TAD BT & Jeaie= o 30 a8 Dl YTt -Igl bR 9Iu |
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o 2
(3) 3
(4) 4

1[Option ID=8797]
2[Option ID=8798]
3[Option ID=8799]
4[Option ID=8800]




